


HRNSEIATIHITIE

ZHUZHOU SANT CUTTING

RMEIATIEIZDA

ZHUZHOU SANT CUTTING

INTRODUCTION 22FfEM

HHEATHDRERATDR—RELR. HEREEHENARERASRNI . ARMTHEERSSE
FEib-thifl. ABBIEE-RE . PEET]. g7, NMTIOR. #B71k . IRAGRBLERSSHR.

\

=
=f

[szaszassiss

AFHATEERANIETHER, EETISO001EREEERIAIL; REERPRAHTRIMERNEE; HEEEDMG,
MAZAKR B MBI Th0, ANCATHEGIRMERERPO, ZEISS=SmmmERll(HERNEaBiEinT
BELRSEMENESE: RRFSSENIHONG-TECHNORIMREARERNSRATFINAHRT 7HMEXER, LIBBER
“SANT” BRI RERREELTTLHSKE.

AFPESFNGTRHAERENRARENGSTRNEY, EBHEFRMERIHRTDR, BB E R
THBNUTIARRSERSEEFESHR. ATFR ‘HEE—, REEL" NES, SSURFEEFEYTRE
REFNEGF.

Zhuzhou Sant Cutting Tools Co., Ltd is a modern joint-stock company specializing in the designing, producing
and selling of CNC cutting tools and cemented carbide tools. Located in Zhuzhou,one of the biggest
manufacturing bases of cemented carbide cutting tools in China,our company mainly produces various cnc
turning tools, milling tools, drilling tools, cnc inserts, tooling systems andvarious cemented carbide tools.

- ANCATL Bt sh S R EEl Rl - ZEISS=4&im il B AR (Y

We have strong design team and complete quality-testing system and have passed the ISO9001 Certification
of Quality Management System. Besides, ERP system is adopted to improve the efficient and accurate
management. More importantly, we have various kinds of processing equipment, including DMG, MAZAK
five-axis linkage high precision machining center, ANCA five-axis linkage high precision grinding center.In
order to make sure the quality of "SANT" series products always stands at the front of the industry, we have
established collaboration relationships with many outstanding suppliers including NJTHONG TECHNOQ - the
heat treatment company.

With the experience of designing and manufacturing cnc cutting tools for many years, we can provide
customers with various non-standard tool holders,and can also provide a complete set of supporting scheme
for required tools during the processing as well as varies carbide tools. In accordance with the principle
"Quality First, Service Supreme", we have established long-term friendly cooperation relationships with
many customers all over the world.



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



EQENW%\U



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu...tmﬂ&\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmmm\U



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmmm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



£ ¥|7J8 | TURNING TOOLS ;BHI §BHI Z£¥|7J8 | TURNING TOOLS

Parting and grooving toolholders  HIFIET)

LN#THIHE7] Parting and grooving toolholders

* IVABREFUETITI AR Matching Insert BFNEK7IEMITIE Parting Blade Holders

UU’ g g . - & R5H{mm) Dimension
i E !
88 3 |XI0R Lamax
ZTEDO2503-MG ® e ® ® O 2.5 0.3 17
ZTFDO303-MG ®® O ® O 3 0.3 17
ZTHD0404-MQ ® e ® ® O 4 0.4 22
ZTHDOSO4-MGC © ® @ ® O 5 0.4 22
ZTKDOS0S-Ma ®® ® ® C 6 0.8 22 o %AR+ Dimension(mm)
ZTHS0504-MG Q0 @) 5 0.4 o .
iR
ZTKS0808-MQ 00 '®) 6 0.8 -
P E mn . PHS2026
M F&8 O | PHS2526
'k T 8 = PHS3226

PHS2032

i W y 5
HEEE i % Hﬁg \, _—

é‘f . PHS2532
HAAS. BAd

Q PHS3232 '
EEHR 1 & 71 A FSPBEF JI# This parting blade holder is for SPB parting blades.

® EEERF Unallocatedstock O FIEEFETE Available stock W 3B F Main application [] # /& Ei Fi Extended application

* RREEFETITIRER Matching Insert

] 8 21s E A RH(mm) Dimension
L
s = BEFHNANTRERE
MGMNZO0-M ] & @ 0 2 0.2 16 1.2 3.5
MGMN250-M ® 0 ® @ O 2.5 0.2 18.5 2 3.85
MOMN300-M ® e @ ® O 3 0.4 21 2.35 4.8
MGMN4O0-M ®e® ® @ 0 4 0.4 21 3.3 48
MOMNS00-M ® 0 ® ® O 5 0.8 26 4.1 5.8
MGMNG00-M [ M ) { ] ® O 6 0.8 26 5 5.8

p [ mm mm
M F#H8 O m
K T o
HEem
RAsE, Heas | s
BB
E ® EEEFR Unallocatedstock O FTEFEFR Avallable stock B ##5% 5 F Main application [ #3% K f Extended application
98

THEAGEFNENSH & e R Swww.hnsant.com TREAEFZWAWNE R & FWH2ERBwww.hnsant.com



tu.ﬁm&a\u



HI1l N@m\“



tu.ﬁmmm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



YE4I7)E | MILLING TOOLS ;BHI §BM #E4IJJE | MILLING TOOLS

AIHEAUSAHITIR Indexable milling tools Indexable milling tools FIF{ZELHITIR

0 Q PLIINES EHEEJIE «knas
AFO02

i R B

#%F Wrench 7K Insert J1EE Shim B3 Threaded Sleeva|7] v 8T Insert Screw # = Wranch B.=F Wrench

SECIT12T3 5188S SMO508 TLEO M3.5X10 TI5T 535 i a SECIT12T3 S13B5 SM0508 TLBO M3.5SX10 TI5T 535

. BETIESHMNsE. =%, L. EREEA. Note: Insertcan be Zeect/Mitsuhishi/Sandvik/Sumitomo brands. W WETRSHNE. =&, LUHE, £XEH. Note Insertcan be Zecet/Mitsubishi/Sandvik/Sumitomo brands.

* JIRMIEES Type of Millin:

Type EAF R (mm) Dimenslon Aéall:’lt"r _E;;h V;i.g:hl Type HEAR(mm) Dimension Aglgta’ Tﬁ?‘;h Vgiﬂhl
N m wm e a]n = f e e s e
40 62.4 50 22 40 (] 0.3 40 62.4 50 22 40 6 0.3

AF01.12422.050.04 A 4 AF02.12A22 050.03 A 3
AF01.12A22.063.05 50 75.4 63 22 40 6 A 5 0.5 AF02.12A22.083.04 50 75.4 63 22 40 6 A 4 05
AF01.12A27.080.06 60 924 80 27 50 6 A 6 1.3 AF02.12A27.080.04 60 92.4 80 27 50 ] A 4 12
AF01.12832.100.07 70 1124 100 32 50 6 B 7 1.8 AF02.12832.100.03 70 112.4 100 az 50 6 B 5 1.8
AF01.12B40.125.08 80 137.4 125 40 63 ] B 8 3.0 AF02.12B40.125.06 80 137.4 125 40 63 8 B 6 3.55
AF01.12B40.180.10 100 172.4 180 40 63 ] B 10 5.0

AF01.12060.200.12 160 2124 200 60 63 6 c 12 6.8

AF01.12C80.250.14 200 262.4 250 60 63 6 (o 14 11.2

AF01.12060.215.18 270 3974 315 60 70 6 D 18 20.8

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



EQENW%\U



YE4I7)E | MILLING TOOLS ;BHI §BM #E4IJJE | MILLING TOOLS

Indexable milling tools FIFERIELHITIR

EEEAUHHITIR Indexable milling tools

ERTIR wees N DoOMBO EETIR reas N DoOmMD
AF04

* 71 MfF Spare paris

T BT insert Scraw #F Wrench

o

7] E WaLmsT LT ) HTERE Wranich
J_j:jlrjéeﬂ #® [Clamp Double Headed Screw| Toolchuck screw | Adjusting Screw BF
()] :

LOFO7RL WOZRIL D21 LOMSX15 TMOB0B 8384

S

N

OFKTO5T3 TLEO M4X10 Ti5T

HH: EENFBERSFEMNEGNEH, Note: The Insert Is Zecct brand, HlE: BEIRENSFHEMGETIR. Note: Theinsert is Zeeot brand.

—(BROTECH

Type AR~ (mm) Dimension Aéagar ;’;h Vgiiht Type BAR(mm) pimsnsion A;al;lar E‘;h vgi?iiht
40 56 50 22 40 35 4 0.3 £ 60 9 80 27 63 5 5 14

AF04.05A22.050.04 A AF04.07A27.080.05 A

AF04.08422.050.08 40 56 50 22 40 3.5 A ] 0.4 AF04.07832.100.08 70 111 100 32 63 5 B 6 1.8
AF04.05A22.083.05 50 69 63 22 40 3.5 A 5 0.8 AF04.07840.125.08 80 136 125 40 63 5 B 8 3.9
AF04.08A27.080.06 60 86 80 27 50 a5 A ] 1.3 AF04.07B40.160.10 100 171 160 40 83 5 B 10 59
AF04.05832.100.07 70 106 100 30 50 35 B 7 26 AF04.07080.200.12 204 211 200 60 50 5 C 12 7.6
AF04.05B40.125.08 80 130 125 40 63 3.5 B a8 42 AFQ4.07C80.250.16 254 261 250 60 50 5 G 16 133
AF04.03B40.1680.10 100 165 160 40 63 a5 B 10 5.1 AF04.07D60.315.20 319 321 315 80 50 5 D 20 183
AF04.05C40.160.10 100 185 160 40 83 as c 10 48

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com 118



YE4I7)E | MILLING TOOLS ;BHI §BM #E4IJJE | MILLING TOOLS

Indexable milling tools FT#SHIHMITIE

ATEAUHHITIR Indexable milling tools

EERTIR Knes N D Oma0 TR Knas N POmD
AFO06

18 F Wrench
s

ONOOoe0410 LB0 M4X10 TiET
ON[IL108TSC1] LBOMS5X12 T20T
71E Insert A K% 4T Insert Scraw #fF Wrench
@ a) i BEENEZESSEEHNGATE . Note:The Insert Is Zecot brand.

* 71 RAREEE Type of milllng

Category Typs EERT(mm) pimension A; éter E;‘h V\;iiht
o s TN N T I T =
40 62 50 22 45 4 5

ODLICI0805 TLEO M5X12. T20T

HH: EENFRUSEEASIE .. Note:The Insert |s Walter brand.

—(BROTECH

B AF0E.08A22.050.03 A 03
* JIRMIEE S Type of Milling Teols T L e o » " . . . o
&= 0 o =R

m ““ : (kg) AF0B.06B32.100.08 70 112 100 a2 62 4 B 8 1.2
AF05.06A22.050.04 40 60 50 2 4 L A 4 0.3 ONOG  AF08.06B40.125.08 80 137 125 40 83 4 B 9 26
AF05.08A22.083.05 50 73 83 22 40 10 A 5 0.5 AF06.06040.160.11 100 172 160 40 63 4 c 1 43
AF03.06A27.080.06 60 90 80 a7 50 10 A 8 0.8 AF0B.08CE60.200.13 160 212 200 60 63 4 C 13 756
AF05.06832.100.07 70 110 100 100 50 10 B 7 15 I — o o 0 o " o s s
AF0S.06840.125.08 80 135 125 125 63 10 B 8 25 AF08.06D60.315.47 250 3g7 315 80 70 4 D 17 208
AFD5.08C40.160.09 100 170 180 160 63 10 c g 4 AFGAGSASSOBRES | 5D 5 - ” ” - 4 . e
AF06.08B27.080.08 60 95 80 27 50 5 B 8 12
AF06.08B32.100.07 70 115 100 32 63 5 B 7 12
AF08.08B40.125.08 80 140 125 40 83 5 B 8 26

ONO8
AFOB.08C40.160.10 100 175 160 40 63 5 c 10 43
AF06.08060.200.12 160 215 200 60 63 5 c 12 7.6
AFOS.08C80.250.14 200 265 250 60 63 5 c 14 135
AFOG.08D80.315.18 250 330 315 60 70 5 D 16 208

TRAGEFNERIET & FWwERREwww. hnsant.com TRAGEFNRZ NI & 383 RER Swww.hnsant.com



EMI7JE | MILLING TOOLS ;BHI ;BHI #5878 | MILLING TOOLS
| L —
EHITIR ke N DO

AFO06

L1

@Dl
@0
@d

7K Insert T F B4 insert Screw #=F Wrench

71 5 %4 Insert Screw #85F Wrench

&
~

ONOIoec410] TLBO M4X10 Ti5 SNEX1206ANN TLBO M4X10 TI6T

ONLICIo8Ts[IL] TLBIMAALE Fai . EE7ERRUSSEREMTE . Note:The insert is Korloy brand.

HH: EEDRESUSEENTEIIR. Note: The Insert s Zecct brand.

—(BROTECH

* 71 MBS Type uf'lmlii  Tools

Type E X R~t(mm) pimension Adapter| Tooth | Waight
i &S #0 i =R
40 63 50 22 40 6 4 05

Bs #¥0O 3
o [ [« [ | u ] v | Aroaszzasocs :

AF08.08W20.025.02 37 25 20 100 45 4 w . 2 0.2 AF08.12A22.083.08 50 78 83 22 40 8 A 8 0.7
AF08.08W25.032.03 44 32 25 110 50 4 W 3 0.3 AF08.12B27.080.07 60 o3 80 27 50 6 B 7 1.2
AFO08.08W32.040.04 52 40 32 120 55 4 w 4 0.4 AFD8.12832.100.08 70 113 100 a2 50 ;] B 8 1.7
AF08.08W25.032.02 47 32 25 120 55 5 w 2 04 AF08.12840.125.10 80 138 125 40 863 ¢} B 10 36
AFO08.08W32.040.03 55 40 32 120 55 5 w 3 05 AFD8.12C40.1680.12 100 173 160 40 63 6 C 12 4.8
AF08.08W32.050.04 65 80 a2 120 55 5 w 4 0.6 AF0B.12C80.200.14 150 213 200 80 63 6 C 14 53

AF08.12C60.250.16 180 263 250 &0 83 & c 16 12

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



#rElJ7JE | MILLING TOOLS anT Hsﬂn

ATEE{USEHITIR Indexable milling tools:

"I #El7JE | MILLING TOOLS

Indexable milling tools TTEA%NITIE

% 71E M Spare

71K Insart TIR BT Insert Scraw 7 F Wranich 71K Insert 71 RIBAT Insert Screw ®"F Wr}ench

.
o &

~

SNMX1205XTN TLBO M4X10 T15T PNMU1205ANER TLE0 M5X12 T20T

HEi: EENFRUSERETIF . Note:The Insert Is Taegutec brand HlH: EETHBUSFITEIN - Note:The Insert Is Kyocera brand.

—(BRoTECH

+ 1R EType of Milling Tools

e gopter|  Tooth | woig e () Dimension capisr|oaim [ e
40 83 50 2 4 0.5 50 76 83 2 45 55 5 0.5

* TIRMMEE Type of millh

AF09.12A22.050.04 40 6 A AF10.12A22 065.05 A
AF08.12A22.083.05 50 76 63 22 40 6 A 5 0.7 AF10.12B27.080.06 B0 83 80 27 50 55 B ] 1.0
AF09.12B27.080.06 B0 83 80 27 50 4] B 6 1.2 AF10.12832.100.08 70 113 100 32 50 55 B 8 1.4
AF09.12832.100.08 70 113 100 32 50 6 B 8 17 AF10.12B40.125.10 80 138 125 40 63 55 B 10 25
AF09.12B40.125.10 80 138 125 40 &3 ] B 10 36 AF10.12C40.160.12 100 173 160 a0 63 55 c 12 3.8
AF09.12C40.160.14 100 178 160 40 63 6 C 14 48 AF10.12060.200.14 150 213 200 60 63 5.5 e 14 65
AF09.12C80.200.18 150 213 200 60 63 6 c 18 53 AF10.12060.250.18 180 263 250 80 63 55 c 16 9.1
AF09.12C60.250.20 180 263 250 60 63 6 c 20 12

THERGEFHARGET® N8N tbwew.hnsant.com TEREEFWABH A 11855 M www.hnsant.com




EQENW@U



=QENWM\U



129

#EEIJJE | MILLING TOOLS
ATEAUHHITIR Indexable milling tools

‘-'izr(':jj--.j. s

AR Insert AT Clamping Screw

HNEX0805 #HA: DM6*20

HE: EENFERSEBHMNEE TN, Nole: The insert is Zecct brand.

siepic] et
- L oo: | oo | o0 | od |+ | » | Bx
60 88.5 80 27 8

SANT
N DOMRO 0

@Dl
@D

@d
@Dz

R Clamp HF wrench

W1BN 83

DF01.00A27.080.08 50 85 A

DF01.08832.100.10 70 108.5 100 32 85 B 10 26

DF01.09840.125.14 80 133.5 125 40 63 85 B 14 37

DF01.09B40.160.18 100 168.5 160 40 63 8.5 B 18 56

DF01.08C80.200.22 150 208.5 200 60 63 85 c 22 63

DF01.09060.2%0.28 200 258.5 250 63 86 C 28 10.3
DF01.09D60.315.32 270 323.5 316 60 63 85 D 32 21.7

TRAGEFNERSE & FN 2N Nwww.hnsant.com

59“! #4/7J82 | MILLING TOOLS

Indexable milling tools FTESRISEAITIE

EfJIR xner Q o
DFO1

T1IR 5] Insert Screw #=F Wrench

- .'

PNEG110512R TLEO M4X10 T18T

HH: BREDRFRBRUSEENSBEINS. Nole: The insertis Zeoet brand.

* 71 R i#EE Type of millingl

Type B2 R (mm) Dimension Adapter| Tooth
231 BE st | b
DFO1.11A22.050.04 40 80 50 22 45 5 A 4
DF01.11A22.063.05 50 73 63 22 50 5 A 5 0.8
DF01.11B27.080.06 60 80 a0 27 50 5 B 6 14
= DF01.11B32.100.07 70 110 100 32 50, 5 B 7 18
S DF01.11B40.125.08 80 135 125 40 63 5 B 8 29
DF01.11B40.160.10 100 170 160 40 63 5 B 10 586
DFO1.11C80.200.12 150 210 200 60 63 5 G 12 7.9
DF01.11C60.250.14 180 260 250 60 63 5 c 14 13.4
DFO1.11A22.050.05 40 80 50 22 45 5 A 5 0.6
DF01.11A22.063.08 50 73 63 22 50 5 A 6 0.9
DF01.11B27.080.08 60 20 a0 27 50 5 B 8 12
g DFO1.11B32.100.10 70 110 100 32 50 5 B 10 1.9
8 DF¢1.11B40.125.42 80 185 125 40 63 5 B 12 az
DF01.11840.180.14 100 170 160 40 63 5 B 14 6.4
DF01.11C60.200.16 150 210 200 60 63 5 c 16 8.5
DF04.11C80.250.18 180 260 250 60 63 5 c 18 18

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

= | SANT



EHIJJE | MILLING TOOLS

EIEEAUHHITIR Indexable milling tools

EfEJIR xrer v Q
DFO1

* JIRMEE Spare parts

N v
83

PNEG110512R DMs*20 W18N

HEHE: BEDAFBUSEREMINTAITE .. Note: The insert is Zecet brand.

* 71 AHNEES Type of Milling Tes
Category Type #E & Rt (mm) Dimension Adapter | Tooth Waight
Z3 Bs #0 by =R
DFD1.11A27.080.10 60 90.1 80 27 50 5 A 10 13
® DFD1.11B32.100.14 70 110.1 100 32 50 5 B 14 16
#
i) DF01.11B40.125.18 80 1381 126 40 863 5 B 18 32
DF01.11B40.160.22 100 170.1 160 40 83 5 B 22 58

TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

#EI7JE | MILLING TOOLS
Indexable milling tools FIEEREEHITIE

FIE 4T insert Screw | FI2MET Shim Screw

~ b

$F Wranch

LNKT2510 LLN25R-ZR TL50 M5X16 L60 M3.5X10 T16T/T20T

HH: BEEDRBUSEHRMNRBETN . Note: The insert is Zeest brand.

* TIRAMHES Typs of milling

Type EX R~ (mm) pimension Adapter| Tooth | Weight
i O | &% | EE
154 125 40 63 17 B 5 45

DF02.25B40.125.05 BO

DF02.25C40.160.08 100 189 180 40 63 17 c 6 6.9

DF02.25C80.200.08 150 229 200 60 63 17 c 8 10.5
DFO2.25C80.250.10 160 278 250 60 63 17 c 10 16.7
DFO2.25D60.315.12 270 346 318 60 63 17 D 12 273

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




#EHI7JE | MILLING TOOLS sn"T sn“T YGHEI7JE | MILLING TOOLS
| Indexable milling tools ARSI
EJIR xres N OM Bk TIR xres

DFO03 DFO3

A1F Insert 715 85T Insert Scraw % F Wrench E# clamp #E Wrench

 —
4 :F ;‘n 3 E ‘ "
R365-1506ZNE TLBO M4X10 T15T m R365-1505ZNE DMEF20 | W18N : 83

HH: EENRFEUSZNSEREINR ., Note:The insert is Sandivk brand. HE: BEENRBUST LSRRI, Note: The insert is Sandivk brand.

* TIRAKBS Type of Mi

* 71 AMHETE Type ofm
Type EZE R (mm) pimension Adap‘lar Waight 5 lype

DF03.15A22.063.05 50 70 s on a0 5 A " - DF03.15A27.080.10 80 87 80 27 50 6 A 10 14
DF03.15A27.080.06 80 87 80 27 50 B8 A 8 1.1 DF03.15832.100.14 70 107 100 32 50 6 B 14 20
DF03.15832.100.07 74 e o 4 " ” " = o DF03.15B40.125.18 80 182 125 40 63 6 B 18 38
DF03.15840.125.08 80 132 125 a0 83 6 B 8 34 OEPSIABAG.1 Ro2 100 167 160 40 63 6 B 2 57
DF03.15840.180.10 100 167 160 40 83 B B 10 52 DF03.15C60.200.28 180 207 200 60 63 6 c 28 10.2
DF03.15C60.200.12 160 207 200 80 63 8 c 12 7.8 DF03.15C80.230.36 180 257 250 60 63 6 c 36 15.2

TRAHEFNRENSE & =N NEER¥Nwww. hnsant.com TRAGEFNZNSH & 3SR www. hnsant.com

2 | SANT



E4IJJE | MILLING TOOLS ;BHI !saﬂu!' E4I7JE | MILLING TOOLS

Indexable milling tools FT#SHIHMITIE

EIEEAUHHITIR Indexable milling tools

H#HJIR xers N OMO E%T1R ks
EF02 EF03

#]F wrench

713 Tool chuck E#® Clamp | | ]
TTE: Insert 3k Tool chuc ERIRST Clamping Screw Tl R e

I B B5T Inseri Screw |  F1ERET Shim Screw = Wrench

Q SPKN1203 LSP12RIL WO4RIL WMBx17 .
' & SPKN1203 LSP1ZRIL WO4R/L WMBx22 LOMS15.1 o
LNKT1506 LLN15R-ZR TLEO M4X15 L60 Maxs T10T/T15T a SPKN1504 LSP15RIL WO4R/L WM8x22

HEl: EENLEBUSEHEMEETR. Note: Theinsert is Zeeet brand. B BRI ERUSTEMEE T . Note: The insert is Zeect brand.

* JIRMEEE Type of Milling T

Type &7 R~F{mm) Dimension A‘Eputer

E&RHmm) pimension Aéaﬁter EF03.12427.080.04 80 84 27 50 6 4 A 1.1
| ooe | oo [ o0 | w0 | H | @ | m=x .

EF03.12827.100.08 100 104 27 50 8 5 B 19

.EF02.15B40.125.06 50 = 1z il . - s 3 = EF03.12B40.125.08 125 129 40 63 ] 8 B 35
EF"_"'M"M L L il - i ¢ g 8 55 EF03.12840.160.10 160 164 40 83 ) 10 B 57
WP 3000-200-10 4 28 200 b0 & @ 10 e EF03.12G60.200.12 200 203 80 83 6 12 c 8.2
EF02.15660.250.12 200 257 250 80 a3 8 v 12 134 — 55 - i - § i n 53
EF02.15D60.315.16 250 ass a1s 80 63 8 D 16 252 S ——— 545 - & - . - 5 -
EF03.15A27.080.04 80 84 27 50 8 4 A 1.0

EF03.15827.100.08 100 104 27 50 8 6 B 18

EF03.15840.125.08 125 128 a9 83 8 8 B 33

EF03.15B40.160.10 160 164 40 63 8 10 B 5.4

EF03.15C60.200.12 200 204 60 63 8 12 C 7.9

EF03.15C60.250.16 250 253 80 63 8 16 C 138

EF03.15D60.315.20 315 318 60 70 8 20 D 23.1

TRAGEFNERSE & FN 2N Nwww.hnsant.com THEAGEFMRE NIRRT & F90TE R Swww.hnsant.com

= | SANT



#tHIJJE | MILLING TOOLS SA“T §BHI #eHIJJE | MILLING TOOLS
! e b i
EfJIR xnrs Q PRLK) HEkJIB xr75° Q PRK)

EF04 EF06

* JIAM# Spare pars
71K Insert 1R BT Insert Screw 5 F Wranch B R BFT Clamplng Screw #F wrench

SPK[11204 TL60 M5X12 T20T SPMT1806EDER TL6O MEX16 T25T

HH: BEETEBRESENETRE, Note: The inserl is Kyocera brand.

Category Type EXRF(mm) pimension Aéaupter Egh \_I!ieiiht
60 87 80 27 50 4 1.3

#H: BEEDFENSZEMETNE. Note: The insert is Zecet brand.

—(BROTECH

EHRF(mm) Dimension Ad“pter Vgiﬂm EF06.18A27.080.04 12.4 A
(kg) EF06.18B32.100.05 70 107 100 a2 50 12.4 B 5 20
EFD4.12A22.050.04 40 54 50 22 a0 8 A | 4 0.3 ﬁ EF08.18B40.125.08 80 132 125 40 63 12.4 B 6 3.6
EF04.12422.083.05 50 66 63 22 50 6 A 5 0.8 2 EF06.18B40.160.08 100 167 160 40 63 12.4 B 8 5.0
EF04.12427.080.06 60 83 80 27 50 ] A 6 09 EF06.18C60.200.10 150 207 200 60 63 12.4 c 10 7.7
EF04.12832.100.07 70 103 100 32 50 ] B 7 1.4 EFD8.18C80.250.12 180 257 250 60 63 124 c 12 12.0
EF04.12B40.125.08 80 128 125 40 63 6 B 8 25 EF06.18A27.080.08 60 87 80 27 50 12.4 A 8 1.3
EF08.18832.100.07 70 107 100 a2 50 12.4 B 7. 1.9
; EF06.18B40.125.08 80 132 125 40 63 12.4 B 8 35
= EF06.18B40.160.10 100 167 180 40 63 124 B 10 49
EF06.18C80.200.12 150 207 200 80 63 12.4 c 12 7.8
EFD6.18C60.250.14 180 257 250 60 63 124 c 14 17.0

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREASEFNE WEHET & 1710025 P siwww.hnsant.com

2 | SANT



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



& | LS

#tHI7JE | MILLING TOOLS sn“T §B“T ##Hl7J8 | MILLING TOOLS

Indexable milling tools PIFUZEHITIR

TS IEMITIEL Indexable milling tools

* 71AM#: Spare parts

J1H insert 7R 841 Insert Screw #=F Wrench

71K Insert 7 i 5®3T Insert Screw #HF Wrench

n 4

SEET09T308PER TLBO M3xX7 TOBT

TPKN2204 MYLEX18 s4

EH: BEETNRZEWSEHEMEE N Note: Theinsertis Zecet brand. HH: BEENFBUSERMSEIFN . Note: Theinsertis Zeoct brand,

—(BROTECH

Type LR {mm) Dimension Adapter Egh Weight Type #A# R~H(mm) Dimsnsion Adapter| Tooth Weight
3

N R N I B o el I N I I e - e
50 B3 22 15 05 40 50 A 0.3

PF01.22422.063.03 50 PFO2.09422.050.05 22 a0 6.5 5
PF01.22427.080.04 60 80 27 50 15 A 4 0.9 PFO2.08A22.083.08 50 83 22 40 6.5 A 6 05
PF01.22B32.100.05 70 100 32 50 16 B 5 1.8 PFO2.09A27.080.08 60 80 27 50 6.5 A 8 0.9
PF01.22B40.125.08 80 125 an 83 15 B B 25 PF02.098232.100.08 70 100 32 50 6.5 B 8 1.7
PF01.22840.160.07 100 160 40 63 15 B 7 36 PFO2.08B32.100.10 70 100 32 50 6.5 B 10 1.7
PF02.09840.123.12 80 125 40 B3 6.5 B 12 26

TRAGEFMENSET & 1% 25 M iwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

£ | SANT



5 | LNWS

e 7JE | MILLING TOOLS
Indexable milling tools PIHAEEHITIR

gtEl/JE | MILLING TOOLS §B“T

ATRS{UHITIR Indexable milling tools

MR/ € MO
PFO2

EHERF(mm) Dimension

PF02.12A22 050.05 a0 50 22 40 10 A 5 0.3
PF02.12A22.083.08 50 83 22 40 10 A 6 0.65
PF02.12A27.080.08 80 80 27 50 10 A 8 0.9
E PFO2.12832.100.10 70 100 32 50 10 B 10 1.2
y PF02.12840.125.12 80 125 40 63 10 B 12 3.1
PF02.12C40.160.14 100 160 40 63 10 c 14 44
PF02.12C80.200.16 140 200 80 63 10 c 16 8.1
5 Wrench PFO2.12C80.250.18 200 250 80 63 10 c 18 109
PF02.12D60.315.24 250 316 80 63 10 D 24 216

SEET120308PER §12B5X SMO508 TL60 M3.5X10 TIST 835

=
S
Q"ﬁ

B EENFERSERMIENE . Note; The insert is Zeeet brand.

 milling

OF ITHHINE
PFO2.12A22.050.03 40 60 22 40 10 A 3 0.2
PFOZ 12422 083.04 50 63 22 40 10 A 4 0.85
PFO2.12A27.060.04 60 80 27 50 10 A 4 0.9
g PF02.12B832.100.05 70 100 32 50 10 B 5 12
Ei PF02.12840.125.06 80 125 40 63 10 B 6 3.1
PF02.12G40.160.08 100 160 40 63 10 o] B 4.1
PFOZ.12060.200.10 140 200 60 63 10 c 10 6.1
PFO2.12C60.250.12 200 250 &0 63 10 c 12 10.9
PFOZ.12A22.050.04 40 50 22 40 10 A 4 0.3
PF02.12A22.063.05 50 63 22 40 10 A 5 0.65
;E PF02.12A27.080.06 80 80 27 50 10 A 6 09
2 PFOZ12B32.100.07 70 100 a2 50 10 B 7 12
PFO2.12B40.125.08 80 125 40 63 10 B 8 ad
PFO2.12C40.180.12 100 180 40 63 10 e 12 4.1

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

E | SANT



¥eHIJJR | MILLING TOOL

AEEHITIR Indexable milling tools

* ZIARHE Spa

71K Insert #HF wrench
LNKT1506EN-ZR LLN15-ZR TLBO MaX12 L60 Max? TI5T 10T
LNKT2007DN-ZR LLN20-ZR TLBO M4X15 L60 M3X7 Ti6T T0T

LNKT2510-ZR LLN25SR-ZR TLE) MSX17 L80 M3.5X10 TIST T20T

HH: EEDFBERSLHRHSA BTN Note:The insert is Zocet brand

#26 K< (mm) Dimension Adapter

| saRtemoomesen |
o [ o [« [ v [ |

Category
231 Hs

PF03.13840.125.06 80 125 40 63 8 B ] 32
PF03.15040.160.08 100 160 40 683 8 c & 51
LN1s PF03.15060.200.10 150 200 60 63 8 o 10 65
PF03.15C860.250.12 200 250 60 63 8 c 12 115
PF03.15D60.315.16 250 315 80 63 ] D 16 19.8

147 TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

® = 7 =R

ESTIR xneor

$tdl7J2 | MILLING TOOLS
: Indexable milling tools FIFEIEERITIR

EZR 3 (mm) pimension
oo [ o ] 0a | | o |
PF03.20B40.125.08 a0 & 125 40 83 12 B ] 32
ENf PF03.20C40.160.08 100 160 40 63 12 G ] 5.1
PF03.20060.200.10 150 200 60 63 12 [ 10 85
PF03.20060.250.12 200 250 60 63 12 c 12 115
PF03.20D680.315.15 250 315 60 83 12 D 15 10.8
PF03.25B40.125.05 80 125 40 63 15 B 5 32
PF03.25040.160.06 100 160 40 63 15 o] 6 5.1
LN2s PF03.25C80.200.08 150 200 80 63 15 c 8 65
PF03.25060.250.10 200 250 80 63 15 c 10 11.5
PF03.25D60.315.12 250 31s 80 63 15 D 12 19.8

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




#E4)7JE | MILLING TOOLS §BHI ,,SB

ATHSEEMITIR Indexable milling tools

“I #:417J8 | MILLING TOOLS

Indexable milling tools FIEEAI¥tHITIR

RE Threaded Sleeve| 77 %] Insert Screw ﬁ?-' Wrench #HF Wrench h i =F Wrench
R290-12T308 S12B8X ' SMO508 TL60M3.5X10 TI5T 835 m SOMT{2T308PEER §12BSX SM0508 TLBOM3EX10 TI5T ' 835
B BENAZNSE LRETRMIHE . Note: The insert is Sandvik brand. TH: RENFBUSE=2SEI K. Note: The insert is Mitsubishi brand.
* JIRMHEES Type of milling & * JIRHEBS Typa of millin
Typa EZFR‘T(mm) Dimandian Adapter Tooth V‘;‘l?ight Type EJISRTI'(mm) Dimeraion Adapter| Tooth Vgl?ight
& 2 #®0 | & = = O | EN
PF04.12A22.050.03 40 50 22 40 ] A 3 05 PF06.12422.050.04 40 50 22 40 10 A 4 0.3
PF04.12A22.083.04 50 63 22 40 9 A 4 0.8 PF06.12A22.062.08 50 63 22 40 10 A 5 05
PF04.12B27.080.04 60 80 27 50 9 B 4 0.9 PF06.12827.080.08 60 80 27 50 10 B 6 0.6
PFO4.12B32.100.05 70 100 3z 50 9 B 5 1.3 PF06.12832.100.07 70 100 a2 50 10 B 7 1.4
PF04.12B40.125.08 80 125 40 83 ] B 6 27 PF06.12840.125.08 80 125 40 83 10 B 8 22
PF04.12C40.160.08 100 160 40 63 k] c 8 41 PF06.12040.160.12 100 160 40 83 10 a7 12 35
PF04.12C80.200.10 150 200 60 63 9 c 10 B2 PF068.12C80.200.16 150 200 60 10 c 16 6.2
PF04.12C60.250.12 180 250 60 63 9 Cc 12 10.7 PF06.12C60.250.18 180 250 60 63 10 c 18 10.7

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



§ANT #EHI7JR | MILLING TOOLS
'
EHEITIR xroo € OV

$tEl7JE | MILLING TOOLS
TTEAIMI7JE Indexable milling tools

71K Insert M E Threadsd Sleeve | 715 M$T insert Screw #F Wranch #F Wrench

N

A A

AK Insert J1 K B4T Insert Screw 5 F Wrench

=

XDMT120408PDER S12BSX SMD508 TLGO M3.5X10 TIST S35 LNMX170808PNSR TL6O M4X12 TIST

HEH: EE7TRBUSFEERMITF. Note: The insert is Sumitomo brand. Hf: BETRRUSTEERMIIF . Note: The insert is Sumitomo brand.

—(BRoTECH

* IR MAEEE Type of * TIAMBIE Type of mil

Type # 2R (mm) Dimension Aéaupter E;h \;eiiht Type MAERS(mm) Dpimension A;anpter ;’;h w;llght
50 4 60 80 27 5 1.0

PFO7.12A22.050.04 40 22 40 10 A 03 PF08.17827.080.05 50 14 B

PF07.12A22.083.05 50 63 22 40 0 A 5 05 PF08.17B32.100.06 70 100 a2 50 14 B 6 1.8
PF07.12A27.080.06 80 80 27 50 10 A 6 1.0 PF08.17B40.125.06 80 125 40 63 14 B 8 24
PFG7.12B32.100.07 70 100 32 50 10 B 7 1.5 PF08.17B40.160.08 100 160 40 B3 14 B 8 4.0
PF07.12B40.125.08 80 125 40 63 10 B 8 25 PF08.17660.200.10 150 200 60 63 14 c 10 6.5
PF07.12€40.160.10 100 160 40 63 10 C 10 45 PF08.17C60.250.12 180 250 80 63 14 c 12 123
PF07.12€60.200.12 150 200 60 63 10 C 12 83

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com



$:HIJJE | MILLING TOOLS
TTE{EI7IE Indexable milling tools

#E4I7JE | MILLING TOOLS
Indexable milling tools FIEEAISEHITIR

71 B 4T Insert Screw #F Wranch

8

AR Insert N E 84T Insert Screw #H=F Wrench e Ui I ot

-

. BEIRFIEEREARE. Note:Replaceable with Kyocera brand inserts.,

XNEX0806 TLBO MdX12 T15T

'ype of

gl EENRRUSELURESMEIF . Note: The insert is SECO brand.

* NNASRES

—(BRoTECH

Type Z & RH{mm) Dimension Adapter| Tooth
s E:qe| bop
(oo | @d | W | w | & | 1| =
PF10.08A22.063.03 63 a7 22 a0 104 8 6.3 A 3
Type # 2 F~t(mm) Dimension Adapter| Tooth
W e B8O H& PF10.08A27.080.04 80 80 27 50 124 8 6.3 A 4 1.0
| oo | @0 | @d | H B

PF10.08B832.100.05 100 70 32 50 14.4 8 8 B 5 13
PF09.08A22.050.05 40 50 2 40 6 A 5 : : :

PF10.08840.125.08 125 80 40 63 164 8 g B 8 25
PF09.08A22.063.06 50 63 22 40 8 A 6 05

PF10.08840.160.08 1860 100 40 83 16.4 8 g B 8 38
PF0.08B27.080.07 0 80 27 50 6 B 7 1.0

PF10.08C80.200.10 200 150 60 83 257 8 14 c 10 6.0
PF09.08832.100.08 70 100 a2 50 6 B 8 18

PF10.08C60.250.12 250 180 60 83 257 8 14 c 12 84
PF09.08B40.125.11 80 125 40 63 6 B 1 24

PF10.08A22.063.04 83 a7 22 40 10.4 8 6.3 A 4 05
PF09.08B40.160.12 100 160 40 63 8 B 12 38

PF10.08A27.080.05 80 80 27 50 124 B8 6.3 A 5 1.0
PF08.08C60.200.16 150 200 80 83 6 & 186 6.2 : N

PF10.08B32.100.07 100 70 32 50 14.4 8 B B 7 13

PF10.08B40.125.08 125 80 a0 63 16.4 8 9 B 8 25

PF10.08B40.160.10 160 100 40 63 16.4 8 ] B 10 3.8

PF10.08C60.200.12 200 150 60 63 25.7 8 14 c 12 6.0

PF10.08C80.250.14 250 180 80 63 257 B 14 c 14 84

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com

2 | SANT



EQENW@U



tu.ﬁmmm\u



150

¥tHl7J 2 | MILLING TOOLS SANT SANT ‘E’H JJE | MILLING TOOLS

AIFEAIHERITIR Indexable milling tools

Indexable milling tools FTEE{EHNI7IR

AR Insert 71 K 34T Insert Screw %5 Wranch h AR Insert Z1 585 Insert Screw #F Wrench
RCKT10T3MO-DM ' TLE0 MAX10 Tis m ACKT1204MO-DR TL6O M3.5X10 ' TIST
RCKT1204MO-DR TLBO M3.5X10 T156 RCKT1608MO-DR TLEO MBX(12 T20T
HlE: BETABUSHERMBEMEMIOE . Note: The insert is Zecet brand, RCKT2006MO-DR TLEO MEX16 T25T

HH: BENFELSSBMNEGTREITR. Note: The insert is Zecct brand.

* TIRA#EBS Typs of
RF01.10W20.025.02 5 25 20 100 30 5 w 2 02 RFO1.12422.063.04 & 63 22 50 50 6 A a 07
RFO01.10W25.032.02 5 32 25 120 35 5 W 2 05 RF01.18B27.080.05 8 80 27 50 60 8 B 5 0.7
RFO1.12W32.040.03 6 40 32 120 a0 6 w 3 07 RF01.16832.100.06 8 100 az 50 70 8 B 6 12
RFO1.12W32.050.03 6 50 32 120 40 E:] w 3 0.8 RF01.20840.125.07 10 125 40 63 80 10 B 7 22
RF01.20840.160.08 10 160 40 63 100 10 B 8 42

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




&%/ 7]E | MILLING TOOLS
BLHHITIR Indexablemillingtools

JB Insart JIR 84T insert
RDKWOB03MO TL8O M3X7
RDKW10T3MO TL60 M4X10
ADKW1204MO TLBO M4X10

Hl: BEJFBRESEEMSETSMIIFE . Nota: The Insert ls Zecet brand.

* TIRAHES Type of milling

Screw #1=F Wrench

-

‘T10
T18

T15

Type B R'ﬂ'(mm) Himanslan Adapter Tooth Weight

e g#n | wy | =R
RF02.08W16.016.02 4 16 16 100 25 4 w 2 0.1
RFO2.08W25.025.02 4 25 25 100 30 4 w 2 0.3
RFOZ.10W32.032.02 5 32 32 120 40 5 W 2 07
RF02.12W32.040.03 6 40 az 120 40 6 w 3 0.7
RFO2.12W32.050.04 8 80 3z 120 40 6 W 4 0.8

TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

* 7)E.Bi4% Spare parts

A1K insert 71 %857 Insert Screw EH Glamp $#F Wrench
RDKW1204MO TLBO M4X10 WD204 Ti5T
RDKW1605MO TLEO MSX12 WD208 T20T
RDKW2008MO TLBO MEX16 T25T

T BEENFERSEHEMETNF. Nots: The inseri is Zocct brand.
* NI RS S Type of Milling |
Type EF RF(mm) Dimension Adapter| Tooth
H = 0O T8
n | oo [ ga | n | oope [ @ |
RF02.12A22.050.08 B 50 22 40 40 ] A 3
RFD2.12A22.083.04 13 B3 22 50 ] A 4
RF02.16B27.080.03 8 80 27 50 60 8 B 5
RF02.188B32.100.08 8 100 32 50 70 8 B 6
RFO2.20840.125.06 10 125 40 63 80 10 B 6
RFD2.20840.160.07 10 160 40 63 100 10 B I3

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

%5417JE | MILLING TOOLS
7 Indexable milling tools THES{E-STIE

Waight

ER
(kg)

0.5
1.2
1.6
1.8

37




E4IJJE | MILLING TOOLS SA“T §AHI #E4IJJE | MILLING TOOLS

kTR wCOVvVeP oo

RFO03

A1H Insert 1K 84T Insert Screw R Clamp #F Wrench J1 K47 Insert Sorew $#8=F Wrench
RPMT1204MO TL60 M4X10 WD204 TisT QPMT120440 TLBO M4X10 TiST
RPMT1606MO TLEO MBX12 wD208 T20T

HH: EENAFBEUSFEERMAR . Note: The insert is Sumitomo brand.
HEH: RENLBRSS=WSBWT K, Note: The Insert Is Mitsublsh| brand.

—(BROTECH

of milling % 718305 Type of Milling

* 71RAHET Type

x5 52 [ [ oo [ e [ n [ooe | w | mx | | ® = oo [ @ [ e [ F | e | ®
RF03.12A22 050.04 (1 50 22 40 40 (3] A 4 0.4 RFO4.12A22 050.04 40 50 22 40 A 4 0.2

RP12 RF03.12A22.063.05 6 63 22 45 50 8 A 5 0.7 RF04.12A22 050.05 40 50 22 40 A 5 0.2
RF03.12B27.080.06 6 80 27 50 80 6 B 6 12 RFD4.12A22.063.05 50 83 22 40 A 5 04
RF03.16A22.063.04 8 63 22 50 40 B A 4 0.7 RF04.12A22 063.08 50 63 22 40 A B 0.4

RP16 Rros.18427.080.05 8 80 27 50 60 g A 5 12 RF04.12A27.080.06 60 80 27 50 A 8 0.9
RF03.16B32.100.06 8 100 32 63 70 B B 6 16

163 TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



YE4I7)E | MILLING TOOLS ;BHI §BM #E4IJJE | MILLING TOOLS

AIHEAUSAHITIR Indexable milling tools Indexable milling tools FIF{ZELHITIR

TRRT] xeoo PRLAKIN) T EEET] Knso
PEO1 PEO1

FAR 5T Insert Screw ##F Wrench
@

J1F insert T1F 84T Insert Screw % =F Wranch
owy
o

* JIRMHBS Type of milling

APKT11T30I0] TLBOM2.5X6.5 T08 D APKT11T30I] TLBOM2.5X6.5 T08
APKT1804C1] TL6O MaX 10 T15 t: APKT1604L1L] TLEOMAX10 T15

Typa ZZER (mm) Dimension Adapter

— -“--“ e
. "?

PEOL11Z18.01201 = z | 1 | o mmmnn Bx
PE01.11Z18.018.02 18 16 90 25 10.5 z 2 01 PE01.11A22.0580.06 22 40 A 6 0.3
PED1.11220.020.02 20 20 100 30 105 z 2 0.2 AP11  PE01.11A22.063.08 63 22 50 40 11 A 8 0.6
PEO1.11225.025.03 25 25 115 5 105 z 3 0.4 PEO.11A27.080.08 80 27 60 50 11 A 8 1.2
- PE01.11232.032.04 a2 32 125 40 105 z 4 0.7 PE01.11B32.100.10 100 32 70 50 11 B 10 17
PEO1.11W1i6.012.01 12 8 85 25 105 W 1 0.1 PE01.16A22.050.05 50 22 40 40 155 A 5 03
PED1.11W18.018.02 i 16 %0 g 105 " 2 0.4 PEO1.16A22.063.06 63 22 50 40 165 A 6 0.5
PR % - it % 108 W 02 AP16  PE01.16A27.080.07 80 2 80 50 155 A 7 11
PROLTINESO280 | o - a5 i W 5 ik PEO1.16B32.100.08 100 32 70 50 155 B 8 16
PEO1.11W32.032.04 o 5 195 o . W i a5 PE01.16B40.125.10 125 40 80 63 155 B 10 32
PE01.16Z25.025.02 25 25 115 35 155 z 2 04 PE01.16B40.160.10 160 40 100 63 165 B 10 63
PE01.16232.032.03 32 a2 125 40 15.5 z 3 07
HElH: EETRBEUSERMET R, Note: The Insert Is Zeeot brand.
AP16  PE01.16Z32.040.04 40 32 130 42 15.5 4 4 0.8
PEO1.16W25.025.02 25 25 115 35 16.5 w 2 0.4
E PE01.18W32.032.03 a2 a2 125 40 15.5 w 3 07
PEO1.16W32.040.04 40 a2 130 4 15.5 w 4 0.8

165 TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



YE4I7)E | MILLING TOOLS ;BHI §BHI #E4IJJE | MILLING TOOLS

| incexai miing oo TR57)%
BRET] xeov CPOODPoOnNDD HERT] weee

PEO2

* T1 AW -r;r.; '

J1R Insert J1 84T Insert Screw 15 Wranch

FAK Insert 715 W4T Insert Screw = Wrench

-,

- =

APKT11T300 TLEO M2.5X6.5 ' TO8 APKT11T30C] TLEO M2.5X6.5 | To8

EH: BEIEBTSEENSGF RIS . Nota: The insertis Zeeet brand. iEH: EEAFREUSSRMERBMIIF . Note: The insert is Zccet brand.

—(BROTECH

Type BERF(mm) Dimension Adaptar -E;h Welght Typa X R~ (mm) Dimension Aéal:;laler E;;h V;eght
== ----“ o ---“n R (k0
A 4 0.5

PEO2.11W20.020.01 29 w PE02.11A22.050.04 39
PE02.11W25.023.02 25 25 130 55 39 w 2 0.4 PE02.11A27.063.04 63 27 50 58 39 A 4 0.8
PE02.11W32.032.02 32 32 140 65 48 w 2 07 PEO2.11B32.080.05 80 32 &0 63 39 B 5 1.3
PE02.11W32.040.02 40 a2 150 75 55 W 2 1.3 PE02.11B40.100.06 100 40 70 63 39 B 6 20

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



169

#E4I7JE | MILLING TOOLS .SMI
'

FETIR Ko CPOOBPOROO

PEO3

* 7JRMHF Spare paris

ANE Insert TI R B4 Insert Screw $#HF Wrench

APMT113504PDER TLE0 M2.5X5.5 TOS

APMT160408PDER TLEO M4X10 Ti5

BE. EERESSEENET R E, Note: The insert is Zecct brand.

Catagory| Type #EFRF(mm) pimension . Aéalgter _'I%:;;h Vgilght
AP11 PE03.11W25.025 25 25 130 40 20 W 3 | 0.5
AP1 PE03.16W32.032 ap 30 146 50 30 w 3 0.8

PE03.16W32.040 40 3z 150 50 30 w 3 1.0

TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

;BHI #E&/7J8 | MILLING TOOLS

Indexable milling tools FIFAEGHITIR

* JIAM#E Spars parts

J1 84T Insert Screw #H=F Wrench

"

LDOO150400 -TL60 M3.5X12 ‘T15

TEH: EEXENFRUSETR XN GRMITF. Note: The insert is Ceratizit brand.

% JIERWEIE Type of A

Type E_*R'Tj'(mm) Dimension Adapter| Tooth Weight

s oo | ® | w | 0 | w || ™|
16 13 4 0.3

PEC4.15416.040.04 a5 40 40 A

PE04.15A22.050.05 40 50 22 40 13 A 5 0.5
PE04.15A22.063.06 50 63 22 40 13 A 6 0.9
PE04.15827.080.07 60 B0 27 50 13 B 7 Wy
PE04.13832.100.08 70 100 32 50 13 B 8 1.7
PE04.15840.125.10 80 125 40 63 13 B 10 26
PE04.15B40.180.12 100 160 40 63 13 B 12 3.5

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




EMI7JE | MILLING TOOLS ;BHI ;BHI #5878 | MILLING TOOLS

FETIE kneor CPOODP oOnD

|parts

* JIAMEE Spare

AR Insert 715 4T Insert Screw ##5F Wrench

AF Insert 71 4T Insert Screw #F Wranch

APKT1705PER TLEO M4X10 Ti5

A

4

APKT1705PER TLBO M4X 12 TI5T

HEH: BENFERSSHERMRMIE . Note: The insert is Taegutec brand. HH: BEAAEUSFCEERMRTA . Note; The insert is Tasgutec brand.

—(BROTECH

* TIRIRHES Type of Milling Te

Type EF R (mm) Dimension Aéal:‘l)ter E;;h V ";’ilﬂht Type EZ&R~t(mm) Dimension Aéal;ler E;h V;iiht
2 16 40 14 4 0.3

PEOS.17W25.025.02 25 25 100 35 14 W 0.3 PE0S.17A416.040.04 35 40 A

PED5.17Z25.025.02 25 25 200 45 14 Z 2 0.5 PE05.17A22.050.05 40 50 2 40 14 A 5 0.4

PEODS.1TW32.032.03 32 az 110 40 14 W 3 12 PE0S.17A22.063.06 50 63 22 40 14 A 6 0.5

PE05.17232.032.03 32 az 200 45 14 z 3 1.8 PE0S5.17A27.080.07 60 80 27 50 14 A 7 1.2

PEO0S5.17W32.040.04 40 3z 115 45 14 W 4 24 PE0S.17B32.100.08 70 100 32 50 14 B 8 1.5

PECS.17Z32.040.04 40 az 250 45 14 Zz 4 32 PEGS.17B40.125.09 80 125 40 63 14 B 9 3.9
PE0S.17C40.160.10 100 160 40 63 14 G 10 56
PE05.17C60.200.12 150 200 80 63 14 c 12 7.0

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



YE4I7)E | MILLING TOOLS ;BHI §BM #E4IJJE | MILLING TOOLS

AIHEAUSAHITIR Indexable milling tools Indexable milling tools FIF{ZELHITIR

. CPOOIovoO S CPOOJon0O

* 1AM Spare parts

AK Insert FIR 4T Insert Screw #F Wranch
ol

AXMT1235CIPEER TLEC M3X7

AXNTTF17065PEER TLBOMAX10 T Q L J1F %37 Insert Screw #HF Wren'ch
HE: REIRRUSEEERBIR. Nots: The insert is Sumitomo brand. a=

AXMT123500CIPEER TLBO M3X7 TO8T

AMT170500CPEER TLEO M4X10 TIST

HH: EETRERSEEERETITH . Nots: The insert is Sumitomo brand.

Category Type AR I (mm) Dimension Adaptel‘ g?ﬁth
= == m“---

PEDG.12216.016.02.8 2 0.3 _ -
PEDG.12216.016.02.M 16 16 145 25 10 z 2 0.5 * JIRAMEDS Type of Miliing Tools
AX{2 PEDG.12225.025.04.8 25 25 120 35 10 z 4 1.0 PE0S.12416.040.06 35 a0 A 6 0.3
PEDG.12Z25.025.04.M 25 25 170 50 10 z 4 15 AX12  ppos.12A22.050.07 50 22 40 a0 10 A 7 0.3
PEDG.12232.032.05.8 32 3z 130 40 10 z 5 20 PE0E.12A22.083.08 63 22 50 40 10 A B 0.5
PE0S.12232.032.05.M 52 az 180 60 10 z 5 24 PE06.17A16.040.04 40 16 35 40 14 A 4 0.3
PE0S.12232.040.06.5 40 az 150 30 10 z 6 25 PE06.17A22.050.05 50 22 40 a0 14 A 5 0.3
PEDS.12232.040.06.M 40 32 180 30 10 z 8 32 AX17  PE0B.17A22.083.08 63 22 50 a0 14 A 6 05
PEDG.17Z25.025.02.5 25 25 120 a5 14 z g 10 PE0G.17A27.080.07 80 27 80 50 14 A 7 1.7
PE0S.17Z25.025.02.M 25 25 170 50. 14 z 2 15 PE0S.17B32.100.08 100 32 70 50 14 B 8 32
AX17  PEDS.1TZ32.032.03.8 a2 az 130 40 14 z 3 2.0 PEOE.17B40.125.09 125 40 80 63 14 B 9 6.3
PE06.17Z32.032.03.M 32 a2 180 60 14 z 3 24
PEDS.17232.040.04.9 40 32 170 50 14 z 4 25
PE06.17Z32.040.04.M 40 ag 220 50 14 z 4 3z

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



#tElJJE | MILLING TOOLS . J #oEl7JE | MILLING TOOLS

A CPOOJoroD

PEO7

L1 .

@D
@gd

ap

* JIANi¢E Spare parts

* J1EW# Spar

J1F Insert TIF S8R4T Insert Screw = Wranch F1H insert T1 5T Inssrt Screw i#=F Wrench
APMT1035JCJPDER TL60OM2.5X6.5 To8 ADMTOBO304R TLEO M2.5X6.5 TO8
APMT18050IPDER TL8O M3.5X10 T15 ADMT120408R TLBO M3XB Ti0

HEf: BETABWSEHASBITE . Note: The insart is Sumitomo brand. EH: BEITABASERREIEIF . Note: The insert is Walter brand.

—(BRoTECH

* 71 R #EEE Type of Milling

BER (mm) Dimension Adapter Tooth | Weight ey e Adapter| Tooth | Weight

#w | ER 2 % go | #w | ER
PE07.10Z20.020.03.5 20 0.3 PE0S.08W16.016.02 34 w 2 o1
PED7.10Z20.020.03.M 20 20 185 60 17 s 1 0.5 PE0S.08W20.020.03 20 20 20 39 8 w 3 0.2
AP10  PED7.10Z25.025.04.% 25 25 140 40 28 z 1 12 A PE0S.08W25.025.04 25 25 100 43 8 w 4 0.3
PE07.10225.025.04.M 25 25 220 75 26 z 1 1.8 PE0S.0BW32.032.05 a 32 110 49 8 w 5 0.6
PED7.10225.030.04.9 30 25 150 50 a5 z 1 2.4 PE0S.08W32.040.08 40 32 110 40 & w 6 o7
PEO7.10Z25.030.04.M 30 25 230 50 35 z 1 a2 PE08.08Z18.016.02 16 16 180 M 8 z 2 03
PE07.16232.032.04.8 32 3z 150 50 39 z 1 0.3 PE08.06Z20.020.02 20 20 200 39 8 z 2 05
PEO7.18Z32.032.04.M 82 32 230 90 39 z 1 0.5 PE0S.08Z25.025.03 25 25 200 43 B Z 3 07

AP16  pEg7.16232.035.04.5 35 az 150 50 39 z 1 12 PEGS.12W25.025.03 25 25 100 43 115 w 3 0.35
PED7.18232.035.04.M 35 3z 230 50 39 z 1 1.8 PE0S.12W32.022.04 32 a2 110 49 11.5 w 4 0.8
PED7.18Z32.040.04.8 40 32 160 50 39 z 1 24 AD12 PE0S.12W32.040.05 40 32 110 40 11.5 w 5 0.7
PEO7.16232.040.04.M 40 32 240 50 39 z 1 32 PE0S.12225.025.03 25 25 200 43 115 z 3 07
PE0S.12Z32.032.04 32 32 250 49 115 z 4 15
PE0S.12Z32.040.05 40 32 250 45 11.5 z 5 1.6

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com

S | SANT



EEI7JE | MILLING TOOLS #El7JE | MILLING TOOLS

= R
FTEAHHITIR Indexable milling tools Indexable milling tools ETE{r#HITIE

FTIE weao CPOQJoNOD

AK Insert 715 B4T Insert Screw 5 Wrench TIF Insert 71K 84T Insert Scrow

~

ADMTO0B80304R TLEO M2.5X8.5 T8 R390-11T3010 TLBO M2.6X8.5 T08
ADMT120408R TL60 M3X8 Ti0 R3g0-170400 TLGO M3.5X10 Ti5
ADMT160608R TLBO M4X10 T15 HEH: BEIRENSEZURKETF . Note: The insert is Sandvik brand.

HEE: EENRBERSFRERIF. Note: The insart is Waltar brarnd.

* J1RMWBS Type of M

—(BRoTECH

Categary Type #A Rt (mm) Dimension Adapter

PE0S.08A16.040.08 40 16 5 40 8 A 6 02 PE0S.11225.025.03 25 25 120 a2 10 z 3 05

Anoe PE0S.08A22.050.07 50 22 40 40 8 A 7 0.38 PE09.11Z32.032.03 32 a2 130 40 10 F4 3 0.8
PE0S.12A16.040.05 40 16 a5 4D 15 A 5 -~ 1 PE09.11232.040.04 40 32 170 40 10 z 4 17
PEDS.12A22.050.08 50 22 40 40 115 A 6 0.3 PE0S.11W18.016.02 18 18 73 265 10 w 2 0.3

apjp PE0S-12422.062.07 83 2 50 40 115 A b4 0.6 PEO09.11W20.020.02 20 20 81 25 10 w 2 0.4
PEDS.12427.080.08 BO 27 60 50 115 A 8 14 PEDS.11W25.025.03 25 25 88 az 10 W 3 05
PEOS.16A16.040.04 40 16 3 40 15 A 4 02 PE09.11W32.032.03 a2 32 100 40 10 w 3 08
PE0S.16A22.050.08 50 2 40 40 15 A 5 03 PE0S.11W32.040.04 40 32 110 40 10 w 4 17

apjg PE0S-16A22.063.08 63 22 50 40 15 A 6 0.6 PE08.17225.025.02 25 25 120 32 157 z 2 0.4
PE0S.16A27.080.07 80 27 60 50 15 & 7 ib PE09.17232.092.03 a2 ] 130 40 15.7 z 3 08
PE08.16B32.100.08 100 3z 70 50 15 B 8 18 17 PEOS.17232.040.04 40 82 170 40 15.7 z 4 08
PE0S.16840.125.10 125 40 80 63 15 B 10 34 PE09.17W26.025.02 25 25 88 a2 157 w 2 0.4
PE0S.16040.160.12 160 40 100 63 15 c 12 43 PE09.17W32.032.03 32 32 100 40 15.7 w 3 08
PE0S.17W32.040.04 40 32 110 40 15.7 w 4 09

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com

2 | SANT



= | INVS

%tHI7JE | MILLING TOOLS BHI ANT #HI7JE | MILLING TOOLS

FRTIR wese CPOO©BONaO
PEO9

T
'v-.-'ﬂmm'ﬁ.‘

HE: EENREBRSFUHERTRMTE . Note:The insart is Sandvik brand. EH: BEENAFBRUSEFERRMAF . Note:The insert is Kyocera brand.

* 71RMHE Spare parts F
AAK Insert 715 %R 4T Insert Screw #=F Wrench m 71K Insert 71 B IR4T Insert Screw #F Wrench
. & ~
n R a .
R380-11T30101 TLGO M2.5X8.5 To8 & BOMT11T3CICIER TLGO M2.5X6.5 Tos
R380-17041] TL60 M3.5X10 Ti5 m BDMT17041CJER TLEO M4X10 Ti5

o FIRMAEEE Type of Millin
o it | AR (mm)_Dimension Adapter | Tooth | Weight
Heq e &0 wE =i _ 0 s | Eikkg
PEDD.11A418.040.04 40 16 35 40 10 A 4 0.4 PE10.11Z216.016.02 16 18 100 30 10 z 2 0.2
“ PE09.11A22.050.05 50 23 40 40 10 A 5 05 11 PE10.11220.020.03 20 20 110 ag 10 z 3 0.3
PE09.11A22.063.06 63 22 50 40 10 A 8 0.6 PE10.11Z25.025.03 25 25 120 a2 10 z a 0.3
PEDS.11A27.080.07 B0 27 60 50 10 A 7 09 PE10.11Z32.032.04 a2 32 130 40 10 z 4 0.4
PE09.17A16.040.03 40 16 as 40 157 A 3 03 PE10.17223.025.02 25 25 120 36 157 z 2 0.3
PEDS.17A22.050.04 50 22 4 40 15.7 A 4 04 7 PE10.17232.032.03 a2 32 130 40 157 z 3 04
17 PE0S.17A22.063.05 &3 22 50 40 15.7 A 5 0.6 PE10.17Z32.040.04 40 82 150 40 15.7 z 4 0.5
PED9.17A27.080.08 80 27 60 50 157 A 8 0.8
PE09.17B32.100.07 100 32 70 50 15.7 B 7 10
PE0®.17B40.125.08 125 a0 BO 63 15.7 B 8 27

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com




EHIJJE | MILLING TOOLS

TR Ko CPOOPonaO

PE10

JIF Insert 71 B i84T Insert Screw #R = Wrench

%

BDMT11T30CER TLBO M2.5X6.5 Tos
EDMT1704]JER TL60 M4X10 Ti5
EH: RENRFBUSEREERITH . Note:The insert is Kyocera brand.
Y TIEHEE Type of Milling Tool
PE10.11A22.050.07 50 22 40 40 10
11 PE10.11A22.063.08 63 93 50 40 10 A 8 05
PE10.11A27.080.10 80 27 80 50 10 A 10 04
PE10.17A22.050.05 50 22 40 40 15.7 A 5 0.4
i PE10.1TA22.063.06 83 22 50 40 15.7 A 6 0.6
PE10.17A27.080.08 80 27 60 50 157 A 8 0.8
PE10.17B32.100.09 100 a2 70 50 15.7 B 9 15

TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

$EEI7JER | MILLING TOOLS
Indexable milling tools FEEREHITIE

* 71 EM# Spare parts

{8 F Wrench

=

¥

T1H Insert F1 5 8B4T Insert Screw

%,

APKT100304PDER TL60 M2.5X6.5 TO8

HH: BENREYS =S85, Note:Theinsert is Iscar brand.

* ZIRMBBE Type of

Category Type HER < (mm) Dimension ﬁ;;g:ter Tgﬂ‘ ;:?l?s:)
PE11.10A16.040.05 40 16 a5 40 B A 5 0.2
PE11.10A22.050.08 50 22 40 40 B A 6 03

AP10  pEq4.10A22.083.07 63 22 50 40 8 A 7 086

PE11.10A27.080.08 80 27 60 50 8 A 8 1.1
PE11.10B32.100.10 100 32 70 850 8 B 10 18

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




#HIJJR | MILLING TOOLS §BHI sn“T ##Hl7JE | MILLING TOOLS
HEDE Kr:90°

PE12

<

e
s 8

71 Insert TIH 5T Insert Screw #F Wrench

\¥ w‘r‘" ~ o

LNCIX151008PNR TL60 M4X10 TI6T

F1E Insert 71 B %84T Insert Screw #F wrench

~

AXMT11T308 TLEOM2.5X6.5 T08

HEH: BEENFEVSEREARMIG . Note:The Insertls Korloy brand. B BEDESHNEE. UHER. Note:Replacsable with Zecat/Sandyik brand inserts,

—(BROTECH

* ZIRMEBE Type of Mi

A R5Hmm) pimension Adapter

=
50 22 40

Type ARt {mm) Dimension Aéalgter Tooth V;Eht
ok o0 [ e [ o [ o [ e | mx | BM | &
16 18 20 o , ,

PE12.15A22.050.04 40 14 A PE14.11216.016.02 100 0.3
PE1215422.083.06 22 50 40 14 A PE14.11220.020.02 20 20 110 25 10 z 2 0.4
PE12.15A27.080.07 80 27 60 50 14 A PE14.11Z25.025.03 25 25 120 32 0 ¥ 3 0.5
PE12.15832.100.8 100 32 70 50 14 B PE14.11232.032.03 ag 32 130 40 10 z 3 0.8
PEIZASRAAERAR 125 g 80 5 13 B 18 38 PE14.11Z32.040.04 40 32 170 40 10 z 4 1.7
PE12.15840.160.12 1he il 00 o i B 12 &5 PE14.11W16.016.02 16 16 73 25 10 w 2 0.3
PE14.11W20.020.02 20 20 81 25 10 W 2 0.4
PE14.11W25.025.03 25 25 88 32 10 W 3 0.5
PE14.11W32.032.03 32 32 100 40 10 W 3 0.8
PE14.11W32.040.04 40 32 110 40 10 W 4 1.7

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

2| SANT



tu.ﬁmﬂm\u



$EEI7JER | MILLING TOOLS
Indexable milling tools FTESIHITIE

#HlJJE | MILLING TOOLS BHI

EIEEAUHHITIR Indexable milling tools

i) “w € @ onro
RBO1

71F Inseri 71 5T Insert Screw i FWranch
“&"

T1 5 Insert 715 Insert T i %B5T Insert Screw iR =F Wranch

/& D : .

—(BROTECH

ZDETO0BT2CYR10 SPMT080304 TLEO M2.5X5 Tos XPHT16RB03 TL60 M2.5X6 TO8
ZDET{103CYR12.5 SPMT080304 TL80O M2.5X5 ToB XPHT20R10T3 TLEOM3.5X8 Ti5
ZDET13T3CYR16 SDMT020308 TI60 M3.5X10 Ti5 XPHT25R1204 TL6O M4X10 GEt5
ZPNT2204CYR20 SPMT120408 TLEO M5X13 T20 XPHT30R1506 WD208 TLBO M5X12 T20

HE: EENREUSETHHSESEIF . Note:The Ingerl is Zcect brand. XPHT32R1606 duEmrs TLBO MEX12 T20

HE: RENABUSSHRMNSTERENFE. Note:The insert is Zecet brand.

EERNmm) Dimension

w | =Ekka)

E& - (mm) Dimension Adapter | Tooth

RBO1.20W20.020.8 20 20 125 50 20 w 4 03 #0 7 4
RBO1.20W20.020.M 20 20 150 75 20 w 4 0.3

RBOZ.16W20.016.% 16 20 111 60 18 w 2 02
RBO1.20W20.020.L 20 20 200 100 20 w 4 0.4

RB02.20W25.020.5 20 25 127 70 20 w 2 03
RBO1.25W23.025.5 25 25 150 70 23 w 4 05

RBO2.20W25.020.M 20 25 150 80 20 W 2 0.4
RBO1.25W25.025.M 25 25 175 95 23 W 4 0.6 _
_ RB0Z.25W25.025. 25 25 187 80 25 W 2 0.4
RBO1.25W25.025.L 25 25 200 100 23 W 4 0.7 .

RBO2.25W25.025.M 25 25 200 100 25 w 2 0.6
RBO1.32W32.032.% 32 az 175 85 31 W 4 09 _

_ RB02.30W32.030.5 30 a2 161 100 30 w 2 0.8

RBO1.32W32.032.M 32 32 200 100 31 w 4 14

RB02.30W32.030.M 30 3z 250 150 30 w 2 13
RBO1.32W32.032.L 32 32 250 150 31 W 4 14

RBOZ.32W32.032.8 32 a2 161 100 32 W 2 08
RBO1.40W32.040.8 40 32 175 50 41 w 5 1.4

RB02.32W32.032.M 32 3z 250 120 32 W 2 13
RBO1.40W32.040.M 40 32 200 50 41 W 5 17
RBO1.40W32.040.L 40 32 250 50 41 W 5 21

TRAGEFNERSE & FN 2N Nwww.hnsant.com THEAGEFMRE NIRRT & F90TE R Swww.hnsant.com



NT SANT HEIR | MILLING TOOLS

EEI7JE | MILLING TOOLS B

AIHEAUSAHITIR Indexable milling tools Indexable milling tools FIF{ZELHITIR

K Insert EE clamp TR 8845T Insert Screw #H=F Wrench

. =
XPHT16RB03 TLBO M2.5X6.5 u
m J1E Insert TIF 384T Insert Screw WEWrench
XPHT20R10T3 TLEOMS3.5X8 T15
= &
HPHT25R1204 TL6O M4X10 T15 Q
XPHT30R1506 wD208 TLEO M5X12 T20 g XPHT16R803 TLBO M2.5X6.5 Tog
XPHT32R1606 wD208 TLEO M5X12 T20 a XPHT20R10T3 TLEOM3.5X8 Ti5
Il REAFRESEHREMSEFSMI N . Note:The insert is Zecet brand. AisHIZs R 204 TLAO M4X10 Ti5
— XPHT20R1506 WD208 TL60 M5X12 T20
* JIAAHTE Ty
XPHT32R 1606 WD208 TLED M5X12 T20

AR (mm) Dimensian Weight
HH: BENREUSERNEERBIF. Note:The insert is Zcect brand.

RB02.16220.018.5 16 20 150 70 16 z 2 0.3
RBO216Z20.016.M 18 20 180 80 16 z 2 04
RBOZ.20Z25.020.5 20 25 180 80 20 z 2 05 AR (mm) Dimension Waight
RB02.20Z25.020.M 20 25 200 100 20 z 2 06 ER(9)
RBO2.20Z25.020.L 20 25 250 150 20 Zz 2 07 RBO2.20MT3.020.M 20 3 156 70 20 2 04
RB02.25Z28.025.8 25 25 180 80 25 z 2 0.6 RB0Z.20MT3.020.L 20 3 186 100 20 2 04
RBOZ2.25225.025.M 25 25 200 100 25 z 2 0.7 RE0Z.25MT2.025.M 25 3 156 70 25 2 0.4
RBOZ.25Z25.0285.L 25 25 250 110 25 z 2 08 ABOZ.25MT3.025.L 25 3 186 100 25 2 04
RBOZ.30Z32.030.8 0 a 200 120 30 z 2 1.0 REO2.30MT4.030.M a0 4 189 70 30 2 0.8
RB02.30Z32.030.M 30 az 250 150 30 p4 2 13 RBO02.30MT4.030.L 30 4 229 120 30 2 1.0
RBOZ30Z32.030.L 30 32 300 200 a0 z 2 16 RBOZ2.32MT4.032M 32 4 179 70 32 2 0.9
RB02.32232.032.5 ap 32 200 120 a2 z 2 14 RBOZ.32MT4.032.L 32 4 209 100 a2 2 0.9
REOZ32Z32.032.M 32 32 250 150 32 z 2 14

E RBO2.32232.032.L 32 a2 300 200 32 z 2 18

THAKEFNAEFEI R W EERNSwww.hnsant.com THERGEFEERE R, R 02 ERSwww.hnsant.com



—
= | INYS

#tElJJE | MILLING TOOLS BHI #oEl7JE | MILLING TOOLS

Indexable milling tools BIEATEEHITIR

FTEAHHITIR Indexable milling tools

{57 8% 70 “w @ ©ono

RBO3

“w @ ©ono

Category Type #4 R sF(mm) Dimension Adapter | Tooth
L 2% 31 e BO | o
EX
4

- RB03.25Z28.028.M 25 25 200 70 125 z 0.7
s, s 425  RB03.25225.025.L 25 25 250 100 12.5 z 1 0.9
& RB03.25Z32.025.M 25 a2 200 20 12.5 z 1 10
RB03.25Z32.025.L 25 32 250 110 12.5 z 1 13
RB03.30Z32.030.M a0 az 250 80 15 z 1 12
* 71 AL Spare part **  pmoa.sozazoso.L 30 32 300 110 15 2: 1 15
Diameter AR Insert 21 R4T Insert Screw #=F Wrench ¢az RIS S2. 02 M a2 2 258 M 18 e 1 =
HiE @ = RB03.32Z32.032.L a a2 200 110 16 z 1 17

¢12 ZOHX1203 170 MaX10TT Tis Q

16 ZOHX1604 170 MEX12TT T20 E

£20 Z0HX2005 170 MEX16TT T20 [~

¢25 ZOHX2508 170 MEX20TT T20 &

¢30 ZOHX3007 70 M8X25TT T30 “

¢a2 ZOHX3207 170 MBX25TT T30S
HH: BETARBUSERMEEEMI S . Note:The insert is Zeoot brand.

# 2k R=<J(mm) Dimension 1;36[313' E(E‘ ﬁWle& h;
' g
IR T S e e
12 12 125 35 8

REO3.12Z12012.M z 1 0.1

¢12 RBO3.12Z120412L 12 12 150 45 6 z 1 0.1
RB03.12Z16.012.M 12 16 125 50 ] z 1 02
RB03.12Z16.012.L 12 16 150 70 ] z 1 0.2
RB03.16Z16.016.M 16 16 150 40 8 z 1 0.2

18 RB03.16Z16.016.L 16 16 180 55 8 z 1 0.3
RB03.16Z20.016.M 16 20 150 ] 8 z 1 0.3
RB03.16220.016.L 16 20 180 80 8 Z 1 0.3
RB0O3.20Z20.020.M 20 20 180 65 10 z 1 0.4

20 RBE03.20Z220.020.L 20 20 250 100 10 z 1 0.6
* RB03.20Z25.020.M 20 25 180 75 10 z 1 0.6
RB03.20225.020.L 20 25 200 95 10 z i 0.8

TRAGEFHRABHREAIE HiF8S i MNwww. hnsant.com THRREEFNABNET & 5182 Swww.hnsant.com



#:#|7JE | MILLING TOOLS §BHI ;BHI #:#4I7JE | MILLING TOOLS

Indexable milling tools FTESHzsMITIE

etk 7] -~ G @ oMo SEENNEBAR P OmMO
RBO4 PTO1

* 71 M Spare parts

T K Insert N 54T Insert Screw $#=F Wrench

AR insert J1 5 84T Insart Screw #H=F Wrench

2

ZNMT1804100-C ZNMT2004100-8 TLE0 M3X7 Ti0 MPHT080304-DM TLBOM2.5X6.5 Tos
ZNMT2205125-C ZNMT2305125-8 TLBO MaX10 T8 MPHT080305-DM TLEOM3XT T10
ZNMT2706150-C ZNMT2806150-5 TL8O M4X10/TLEOMSX12 T15/T20 MPHT120408-DM TLEOMSEX 11 T20

ER: RETRRUSFERRMIIF . Note:The insert is Sumitomo brand. R WETNF S% 4% B, Note Replaceable with Zecot brand inserts

—(BROTECH

71 B EE Type of Mi

R mm) Dimension Adapter| Toolh | Weigh
#0 4 | ERkg) - s
Bt o0 | o | o [ L] ou | K
RB04.20Z25.020.8 20 25 140 80 20 z 2 0.3 PT01.06W25.021.01.H9 21 2% 10 100 32 g 1
RE04.20225.020.M 20 25 200 80 20 z 2 05 PTO1.06W25.023.01.H11 25 25 12 100 35 1 1 03
RBO04.20Z25.020.L 20 25 250 80 20 z 2 0.7 PT01.08W32.032.02.H14 a2 a2 15 110 45 14 2 05
RBO4.25232.025.8 o5 a2 150 70 23 Z 2 06 PTO1.12W32.040.02.H18 40 32 19 125 55 18 2 0.7
RB04.25Z32.025.M 25 32 220 75 23 z 2 08 PT01.12W40.050.02.H22 50 40 25 140 65 2 2 12
RE04.23Z32.025.L 25 32 300 100 23 z 2 1.0
RB04.30Z32.030.8 30 32 180 80 28 2z 2 09
RB04.30Z32.030.M 30 3z 240 85 28 z 2 1.2
RB04.30232.030.L 30 32 350 120 28 z 2 1.8

193 TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

2| SANT



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



#iEIJJE | MILLING TOOLS
ATEAUHHITIR Indexable milling tools

$cEl7JB | MILLING TOOLS

s, = 71 R

SHEANNHKRBANR
PTO3

Indexable milling tools FT#SHIHMITIE

ZSHNANERNR

& R=f(mm) Dimension
PT02.12022063.06H7 63 22 22 0 7 14 A 8 02
PTO2.12A22.080.08.H47 80 40 22 50 7 18 A 8 05
04 pro2.12427.100.10.H7 100 48 27 50 7 23 A 10 0.7
PT0212B40.125.12.H7 126 70 40 50 7 27 B 12 1.1
PTO2.12840.160.18.H7 160 70 40 50 7 41 B 16 14
PTO2.12A22.063.06.H8 63 32 22 40 8 14 A & 0.2
PTO212A22080.08.H8 &0 49 22 50 8 18 A 8 05
T4  PTO212A27.100.10.H8 100 48 27 50 8 23 A 10 08
PT0212B40.125.12H8 125 70 40 50 8 27 B 12 11
PTOZ.12840.180.18.H8 180 70 a8 a0 5 a % 1 4 715 Insart F1 54T Insart Scraw #F Wrench

L] *

X3-084508H TLBOM3XS T10
X3-115008H TLEOM4X10 T15
X3-145008H TLEOM4X10 15

EH: MENHSWSE B Note Replaceable with Sandvik brand inserts

% JJHEi%#2 Matching Insert

% o E AR F(mm) Dimension * J];ﬂﬂﬂ%Typenﬂ ‘Jf“-“‘l‘-':i'\“_;' Tc

vl e

— Gy
XSEQ1203 OO0 12.7 3 5 12.7 PT03.08J40.125.12.H12 125 55 40 12 16 12 0.72
XSEQ12T3 0|0 2.7 3:5 5 12.7 o8 PT03.08J40.160.14.H12 160 62 40 12 16 14 1,32
XSEQ1204 (el 19 7 4 5 12.7 PT03.11J40.160.14.H16 160 62 40 16 20 14 1,80
PT03.11J40.160.14.H18 160 62 40 18 24 14 2.10
nim N " PT03.11J50.200.16.H16 200 72 50 16 20 16 2,90
M THEH Om PT03.11J50.200.16.H18 200 72 50 18 24 16 3,35
n ik | PT03.14J50.200.16.H20 200 72 50 20 26 16 3.67
AEERE % PT03.14J50.200.16.H24 200 72 50 24 28 16 4,41
mHes. 8ad [ | PT03.14450.250.18.H20 250 72 50 20 26 18 .12
TR PT03.14J50.250.18.H24 250 72 50 24 28 18 7.38

201

® E&HETF Unallocated stock

Q T&HERF Available stock

B # 7 A Main application

TRAGEFNERSE & FN 2N Nwww.hnsant.com

[ 6% R A Exten

ded application

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




tu.ﬁmﬂm\u



$ElI7JE | MILLING TOOLS B

RHEIHERIZIR Indexable milling tools

ZENNGEITA P OnN ZEANEKHAR WP OMD

PTO04 % 7IRRHES Type of Milling
Catogory Type B/ R (mm) Dimansion Tooth '
o IO i oo [ oa [ oo [ ¢ [ Jane ER | B2 |ERW
83 22 34 B 8 13.0 8 K

I #E4I7J8E | MILLING TOOLS
ndexable milling tools AIE&AHRITIR

PTO4.LN1033.122.063.08.H8 0.1
PIO4ALN1033.J22080.10H6 80 22 34 8 8 215 10 K 0.2
PTO4.LN1033.J27.100.12H6 100 27 41 12 5] 27.0 12 K 0.3
1033 PTO4.LN10S3.J40.125.14.H8 125 40 55 12 8 33.0 14 K 05
PTO4.LN1033.J40.160.18H8 160 40 55 12 B 50.0 18 K 08
PTO4.LN1033.J50.200.20H8 200 50 69 12 8 83.0 20 K 1.2
PTO4.LN103RJ50.250.24.H6 250 50 69 12 8 88.0 24 K 20
t PTO4.LN1238.J22.080.00.H7 80 22 34 12 7 2000 8 K 0.2
TIE B Diameter 71%ap Cutting Edge 71 Fr T Insert Screw #F Wranch () PTO4LN1238.J27.100.10H7 100 27 41 12 7 265 10 K 03
ap {mm) ) m 1238 PTO4.LN1238.M40.125.12H7 125 40 55 12 7 320 12 K 0.5
R o b s PTO4.LN1228.J40.160.186.H7 160 40 55 12 7 495 18 K 0.8
2ea-a180 5 TLEOM2.5X3.9 T08 & PTO4LN1238.J50.200.18.H7 200 50 69 12 T 625 18 K 1.3
6 — a PTO4.LN1238.J50.250.24.H7 250 50 89 12 7 87.5 24 K 2.1
7 TLEOM4X5.1 PTO4.LN1243.J22 080.08.H8 80 22 34 12 8 205 8 K 0.2
263-3250 8 TLEOM4XE.6 o PTO4.LN1243.027.100.10.H8 100 27 a 12 8 270 10 K 0.3
9 TLEOM4X7.6 PTO4.LN1243.J27.100.10.H8 125 40 55 12 8 325 12 K 0.9
10 TL6OM4XB.5 1243 PTO4ALN1243.40.160.16H8 150 40 55 12 8 50.0 18 K 08
HEEH: BERSHMETEA. Note:Replaceabls with Zeoot brand inserts. PT04.LN1243.050.200.18.H8 200 50 69 12 8 63.0 18 K 1.4
* JIEMEEE Tym@f FTMI-HMI 250.24.H8 250 50 6? 12 8 83.0 24 K 23
PTO4.LN1248.J27.100.10.H8 100 27 4 12 ] 276 10 K 0.4
c;";‘l’]"' oS (mm) Dimension PTOA.LN124B.040.12512H9 125 40 55 12 9 330 12 K 06
nn“m i i 1248 PTO4.LN1248.040.160.16H8 150 40 55 12 9 50.5 18 K 1
PTO4LN1OZ3J22.063.08H4 63 22 34 8 4 12.0 8 K 0.1 PTO4.LN1248.J50.200.18.H8 200 - & s & Bk i i 16
PT04.LN1023.J22.060.10.H4 80 22 34 8 4 21.0 10 K 0.1 PT04.LN1 249, J50.250.24. HO 250 50 69 12 9 885 24 K 26
1023 PTOM.LN1023.427.100.12H4 100 27 41 12 4 27.0 12 K 0.2 PTO4LNA253.J27.100.10.H10 100 a7 4 12 10 28.0 10 K 0.4
PTO4.LN1023.040.125.14.H8 125 40 55 12 4 320 14 K 0.4 PTO4.LN1253.J40.125.12H10 125 40 55 12 10 33.5 12 K 06
PTO4.LN1023.040.160.18H4 160 40 55 12 4 50.0 18 K 08 1253 | PTOALNA252.040.180.16H10 150 P 25 5 it il g & o
EN LN JIT DA 0N HE) 65 5 4 8 a 140 8 b u:e PT04.LN1253.J50.200.18.H10 200 50 59 12 10 64.0 18 K 18
PT04.LN1028.522.080.10.H5 80 22 4 8 5 21.0 10 K 0.2 PTO4.LN1253.J50.250.24.H10 250 50 69 12 10 89.0 24 K 29
1028 PTOALN{0ZB.J27.100.12H5 100 27 41 12 5 27.0 12 K 03
PTO4.LN1028.J27.100.12H5 125 40 55 12 5 33.0 14 K 04
E PTO4.LN1028.J40.160.1&H5 160 40 55 12 5 50.0 18 K 0.7

205 THRAKEFRAREHIR N T2RHMSwww. hnsant.com THRAGEERE SR HET R FiEE2RMSwww.hnsant.cam.




i MED SHENSAER . Note:Replacesble with Zeoct brand Inserta.

*mgm#gj‘ e nart

TIEE 1 Diameter
2D

Fe3- 29180

F63-2250

TIRap Cuttin g Edge

* TIRMIEBE Type of Milling 1

1023

1028

Category|
%3 85

PT04.LN1023.A22.080.10.H4
PTO4LN1023.A27 100.12.H4
PTO4.LN1023.B32.125.14.H4
PTO4.LN1023.840.160.18.H4
PT04.LN1028.A22.080.10.H5
PTO4.LN1028.A27.100.12H5
PTO4.LN1028.832.126.14.H5
PTO4.LN1028.840.160.18.H5

100
125
160
80

100
125
160

cEl7JE | MILLING TOOLS
FIEASREITIR Indexable milling tools

EHNNEMAR

(mm)

-~ o o B

w o

10

27

JIE 8857 Insert Scraw

TLEOM2.5X3.2

TLEOM2.5X3.9

TLBOM2.5X4.8

TLEOMAX5.1

TL80MAXE.6

TLEOM4XT.6

TLBOM4XS.5

BER(mm) Dimension

----ﬂ =

23

4
4
4
4

g8 8 8 8 8 8 8 8

TREGESNAREEE WM Ewww.hnsant.com

0
41
18
23
30
41

12
14
18
10
12
14
18

&= Wrench

Tooth Adapter
it ;gx

m m > >

T @ P >

\ -

T0B

T10

Weight

Eik(kg)

0.8
1.0
1.2
0.4
0.8
1.0

—(BROTECH

Catagory
%5

1033

1238

PT04.LN1033.A22.080.10.H6
PT04.LN1032.A%7.100.12.H8
PT04.LN1032.832.125.14.H6
PT04.1N1033.540.160.18.H6
PTO4.LN1033.C40.200.20.H6
PTO4.LN1033.C60.250.24.H6
PTO4.LN1 228.A22 060.08.H7
PTO4LN1 236.427.100.10.HT
PT04.LN1238.832.125.12.H7
PTO4.LN1238.840.160.16 H7
PT04.1LN1238.C40.200.18.H7
PTO4.LNT238.C60.250.24.HT

100
125
160
200
250

8O
100
125
160
200

250

B 8 8 3 8§ %

5

2 3 &8 B

&2 R (mm) pimension

DCICENEaCTE
22 42 50 6

76

132

42

76

132

TRAGESNAERRAE SN2 Evww.hnsant.com

$tEl7JE | MILLING TOOLS

2 8 8 88 8 8 8 8 8 8

41

52

58

P OmQ

Tooth Adapter Waight
1 JEEE E(kg)

12
14

10

12

16

18

24

A
A
B
B
C
c

O O m W > >

Indexable milling tools AIE{MITIE

07
1.1
14
28
4.8
0.5
0.7
1.1
14
29

4.7




cEl7JE | MILLING TOOLS
FIEASREITIR Indexable milling tools

EHNNEMAR

* 7R spare

FIBE 1 piameter TIRap Cutting Edge
@D {mm}
4
2832160 :
5
[+
7
@63-2250 8
9
10

i MED SHENSAER . Note:Replacesble with Zeoct brand Inserta.

Category|
%3 #s

80 22 42

PTO4.LN1243A22.080.08.H8
PTO4LN{243.AZ7 f00.10H8 100 27 52
- PTO4.LN1243.832.125.12H8 125 a2 83
3 PTO4.LN1243.840.160.1648 160 a0 78
PT04.LN1243.C40.200.16.H8 200 40 94
PTO4.LN1243.C60.250.24.48 250 60 132

BER(mm) Dimension

R EN

1R %857 Insert Scraw 3 =F Wrench
D, <
TLEOM2.5X3.2
TLEOM2.5X3.9 TOB
TLBOM2.5X4.8
TLEOM4X5.1
TLEOMAXE.6
Ti0
TLEOM4XT.6
TLBOMAXS.5

Tooth Aéa:‘l’te" Weight
ww | 22 | mmio)
8 05

gemax
18

50 8 A
50 & 23 10 A 0.7
50 8 30 12 B 1.1
50 8 41 16 B 14
50 8 52 18 A 29
50 8 58 24 A 47

TREGESNAREEE WM Ewww.hnsant.com

—(BROTECH

SANT

7

$tEl7JE | MILLING TOOLS

Indexable milling tools AIE{MITIE

EmNNEBNR

* JIRALHER Type of Mills

P OmQ

Category &EFRHmm) Dimension Tooth | AdaPtar| i
I s s e A
PTO4.LIN1248.A27.100.10.H® 100 27 52 50 9 23 10 A 0.7
PTO4.LN1248.B32.125.12.HD 125 32 63 50 ] 30 12 B 1.1
1248 PTO4.LN1248.840.180.16.H9 160 40 78 50 8 LA 18 B 1.5
PT04.LN1248.C40.200.18.H9 200 a0 24 50 9 52 18 ¢ 3
PFT04.LiN1248.C80.250.24.H9 250 60 132 50 L] 58 24 C 48
PTO4.LN1253.A27.100.10.Hi10 100 27 52 50 10 23 10 A 0.7
PTO4.LN1253.832.125.12H10 1256 32 63 1] 10 30 12 B 11
1253 PTO4.LN1253.B40.180.16.H10 160 40 76 50 10 41 16 B 1.5
PTO4.LN1253.C40.200.18.H10 200 40 84 50 10 52 18 C 3
PTO4.LMN1253.C80.250.24.H10 250 60 132 50 10 58 24 C 5

% 7] E#EE Matching Insert
EE R {mm) Dimension

B £ Type _
ER R

LNET102304-GM O Q 7.5 10 2.3 29 0.4
LNET102804-QM OO0 7.5 10 2.8 2.9 0.4
LNET103304-QM OO0 7.5 10 3.3 29 0.4
LNET123804-GM o) 10 13 3.8 4.4 0.4
LNET124304-GM OO 10 13 4.3 4.4 0.4
LNET124804-GM 00 10 13 4.8 4.4 04
LNET125304-QM QO Q0 10 13 5.3 4.4 0.4

= Om

M F#Em 00

'k T mO
HEER
H#ee. e
BEMS

@ HEEES Unallocatedstock O ATHEETE Avallable stock B B A Main application  [] #AME A Extended application

TRAGESNAERRAE SN2 Evww.hnsant.com




#HlJJE | MILLING TOOLS

§BHI #E&/7J8 | MILLING TOOLS

Indexable milling tools FTFEAZEEHITIE

=S| NERNER /// OMD

* JIAMHEES Type of

FIHEAUAHITIR Indexable milling tools

ZHENNGE A
PTO5

P <H{mm) bimension Tootn | AdBter| waignt
PT05.10J40.125.12.H16 125 40 55 20 186 34 12 K 1
. PT05.10J40.160.14.H18 160 40 62 20 16 47 14 K 1.8
( 'PT05.10.J50.200.16.H18 200 50 72 20 16 62 186 K 2.9
- y 10 PT08.10J40.125.12.H18 125 40 55 24 18 34 12 K 1.2
" ' PTO05.10.40.160.14.H18 160 40 62 24 18 47 14 K 2.1
‘.\/ h PT05.10J50.200.16.H18 200 50 72 24 18 62 186 K 3.4
PT05.10.50.250.18.H18 250 50 80 24 18 83 18 K 5.5
= PT05.14J40.125.10.H20 125 40 55 28 20 34 10 K 1.2
u PT05.14J40.160.12.H20 180 40 62 26 20 47 12 K 2.1
A Insert J15 8T Insert Scrow #F Wrench by PT05.14J50.200.14.H20 200 50 72 26 20 62 14 K 3.5
: ) E 14 PT05.14.J50.250.16.H20 250 50 80 26 20 83 16 K 5.8
LNGX1005000-GM TLBOM3.5X10 Ti5 & PT05.14J40.160.12.H25 160 40 62 30 25 47 12 K 23
LNGX140700-GM TLEOMAX10 T15 a PT05.14J50.200.14.H25 200 50 72 30 25 62 14 K 4.5
HE: BEDFSHEMSEERA. Note:Replaceabls with Zecet brand inserta. b i 280 50 8o 30 25 83 18 K 7.3

CIQ;J’Y Typa & R5Hmm) Dimension Weight
PT05.10J27.080.08.H10 80 27 43 14 10 17 8 0.2
PT05.10432.100.10.H10 100 32 47 14 10 25 10 0.37

10 PTO03.10J40.125.122H10 125 40 55 14 10 34 12 0.5
PT05.10J40.160.14.H10 160 40 62 14 10 47 14 1
PT0S.10J50.200.16.H10 200 50 72 14 10 82 16 1.8
PT05.14032.100.08.H12 100 32 47 16 12 25 8 0.4
PTD0S.14J40.125.10.H12 125 40 55 16 12 34 10 0.6

" PT05.14J40.160.12H12 160 40 62 16 12 47 12 1.1
PT03.14J50.200.14.H12 200 50 72 16 12 62 14 1.8
PTO03.10J32.100.10.H14 100 32 47 18 14 25 10 0.4

10 PT05.10J40.125.12.H14 125 40 55 18 14 34 12 0.9
PT0S5.10:J40.160.14.H14 160 40 62 18 14 47 14 1.6
PT05.10J50.200.16.H14 200 50 72 18 14 82 186 25




NT SANT HEIR | MILLING TOOLS

Indexable milling tools FIEAREHITIR

E8I7JE | MILLING TOOLS B

AIHEAUSAHITIR Indexable milling tools

ZHENNGE A
PTO5

=S| NERNER /// OMD

* JIRMHEES Type of Mi

Type mm) Dimension Tooth Aéal:liﬂer Weight
PTOS.10B32.125,12.H16 125 a2 65 50 18 33 12 B 1.4
PT05.10B40.160.14.H18 160 40 80 50 18 42 14 B 2.6
PT05.10C40.200.16.H16 200 40 92 50 16 53 16 c 4
10 PTO5.10B32.12B.12.H18 125 az 65 50 18 33 12 B 1.5
PTO5.10B40.160.14.H18 160 40 80 50 18 42 14 B 29
PT05.10040.200.16.H18 200 40 92 60 18 53 18 z 4.3
PT05.10060.250.18.H18 250 80 132 50 18 58 18 c 7.2
= PT05.14B32.125.10.H20 126 az 66 50 20 33 10 B 1.8
Q PT05.14B40.160.12.H20 160 40 a0 50 20 a2 12 B 2.7
A Fy Insort J1 73T IneeitSorew 8.F Wrerich oy PT05.14C40.200.14.H20 200 40 02 50 20 53 14 c 4.8
. \ - E 14  PT05.14€80.250.16.H20 250 60 132 50 20 58 18 ;. 7.4
LNGX1005010-GM TLEOMA.5%10 T15 t PT05.14B40.160.12H26 160 40 80 50 25 42 12 B 3.2
LNGX1407000-GM TLEOMAX10 T15 m PT05.14C40.200.14.H25 200 40 92 50 25 53 14 c 5.2
HE:. BENFSHEMEREM. Note:Replaceable with Zeoot brand inserts. PT08.14C60.250.16.H28 250 60 132 50 25 58 16 ¢ 8.6
PT05.14C60.315.20.H28 315 60 182 50 25 a0 20 c 13.2
Yo 71RRIES Type of Milling
Calagory EZERHmm) pimension Tooth Aé?:;l:ter Weight
PT05.10A22.080.08.H10 80 22 45 40 10 20 8 A 0.4
PT05.10B27.100.10.H10 100 27 55 45 10 24 10 B 0.6
o PTOS10B32.125.12H10 125 32 85 45 10 a3 12 B 1
PTO0S.10B40.160.14.H10 160 40 80 50 10 42 14 B 2
PT0S.10C40.200.16.H10 200 40 92 50 10 53 16 c 2.9
PT05.14B27.100.08.H12 100 27 55 45 12 24 8 B 0.6
PT05.14B32.125.10.H12 125 32 65 45 12 33 10 B 1
1 PT0S5.14B40.180.12H12 160 40 80 50 12 42 12 B 2.1
PT03.14C40.200.14.H12 200 40 92 50 12 53 14 c 29
PTOS.10827.100.10.H14 100 27 55 50 14 24 10 B 0.7
qo PTOS.10B32.425.12.H14 125 32 86 60 14 a3 12 B 1.2
PT05.10840.160.14.H14 160 40 80 50 14 42 14 B 2.4
PT05.10C40.200.16.H14 200 40 92 50 14 53 18 c 3.8




#tHI7JE | MILLING TOOLS SB“I sn“T ##Hl7JE | MILLING TOOLS

EIEEAUHHITIR Indexable milling tools Indexable milling tools FTFEAZEEHITIE

Bl AP T] Kra5  amer milling Tools ° Wiy ‘ GmQ@ &l F Pk 7] Kr60° (i .miermilling Tools Q R . PRRK)
ACO1 DCO1

A K Insert F1 1 885T Insort Screw #F Wrench A K Insert 71 FFMBET Insert Screw 1% FWrench

e
]

n ‘_ b

SPMT120408 TLEO M5X12 T20 SPMT120408 TLBO M5X12 T20

EH: EENFERSERENEERENN. Note:The insart iz Zecet brand. ZH: BEENRBUSERMBARMIA. Note:The insert is Zecet brand.

—(BROTECH

* 71R S E Type of Milling

Lo || v | e R wx ko
ACO01.12220.012.04 12 20 100 40 z 1 0.2 DCO1.12220.012.01 12 20 100 40 z 1 0.2
ACO1.12W20.012.01 12 20 100 40 w 1 0.2 DCO1.12W20.012.01 12 20 100 40 w 1 02
AC01,12225.025.02 25 25 120 40 Z 2 0.4 DC01.12225.025.02 25 25 120 40 z 2 0.4
ACO1.12W25.025.02 25 25 120 40 w 2 0.4 DCO1.12W25.025.02 25 25 120 40 w 2 0.4
AC01.12Z32.032.03 32 32 180 50 z 3 1.0 DCO1.12232.032.02 32 32 180 50 z 2 1.0
ACO1.12W32.032.03 32 a2 180 50 w 3 1.0 DCO1.12W32.032.02 a2 32 180 50 w 2 1.0

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



EMI7JE | MILLING TOOLS n“ ;BHI #5878 | MILLING TOOLS

ﬁ]ﬁﬁﬂ Kr:30°  .mier illing Tools Q ~ ‘ o MJG *i&%”i w 0 6 0 O 0 @}0
2C01 XKO1

A K Insert F1 84T Insert Screw #F Wrench #=F Wrench

TLBO M3.5X8 T10/T15
LE0 M4X10 WD204
SDMT1204-DM TLED M4X10 T15

SPMT120408 TL8O MBEX12 T20
TH: BEENHRNSEEMEERMRIKA. Note:The insert is Zecet brand.

i BEENRFERSEFRMBETRETE, Note:The insert is Zecct brand.

—(BROTECH
g =

* 7ZIRM#ES Type of Milling

Type HE‘T(I‘I‘II‘I"I) D|rr|ens|on Adapter| Tooth Weight * ”ﬂﬂ“ﬂ?Type of M“.n DO
#0 #H#& | Elko) ;
2% = Type HRT.I'(mm) Dimensian A apter Tooth Welght
1 0.2 8% o

ZC01.12220.012.01 20 z zd (kQ)
2C01.12W20.012.01 12 20 100 40 w 1 0.2 XK01.09225.025.02 25 25 z 05
ZC01.12225.025.02 25 25 120 40 b4 2 a4 XK01.00232.032.03 32 32 150 70 Z 3 0.8
ZCO1.12W25.025.02 25 25 120 40 w 2 0.4 XK01.08Z32.035.03 35 32 150 50 z 3 0.8
ZC01.12232.032.03 32 32 180 50 z 3 1.0 XK01.12Z32.032.02 3z 32 150 70 z 2 0.8
ZC01.12W32.032.03 a2 32 180 50 w 3 1.0 XK01.12Z32.040.03 40 32 150 50 z 3 1.3

TRAGEFNERSE & FN 2N Nwww.hnsant.com TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com



BEHIZJE | MILLING TOOLS
EIEEAUHHITIR Indexable milling tools

Xt H
XKO1

7R Insert

*)

SDMTO9T3-DM

SDMT1204-DM

HH: BENFRRSSEMETRRIIE.

715 4] insert Scraw

TLEC M3.5X8

TL6O M4X10

Note:The insert is Zcect brand.

XK01.09A22.050.04

XK01.08A22.063.08
X01.09A27.063.06
XKO01.12A22.063.08
XKO01.12A27.063.05

XK01.12A27.080.05

XK01.12832.100.06

FE LT clamping Seraw

L60 M4X10

#A Rt (mm) Dimension

Adapter| Tooth Waeight
#0O B |(ERE)
oot | e | ] s
4 0.3

EE#E Clamp BF Wranch
TI0T/TAST
WD204
T15T

40 22 40 A

§0 22 50 A 6 0.5
50 27 50 A & 0.6
50 22 50 A 5 0.5
50 27 50 A 5 0.8
80 27 50 A 5 0.8
70 ag 50 B 6 1.8

TRAGEFNERSE & FN 2N Nwww.hnsant.com

—(BROTECH

s, = 71 R

Kit#h 71 R
XKO2

$EEI7JER | MILLING TOOLS
Indexablemilling tools FTENELHITIE

AF Insert TN ET Insent Screw | EH B $T Clamping Screw #=F Wrench
WPGTOB0315ZSR TLEO M3.5X8 T10
WPGTO080415ZSR TLEOMAX10 Ti5
WPGTO0B80615Z5R

TLEO M4X10 LB0 MBX12 WD208 T20
WPGTOB80725Z5R

FH: BETRRUSLEMBARETIR.  Note:The insert is Zecet brand.

* 71ELIRHE S Type of Milling Tot

&7 R v (mm) Dimension

3
)
(o
B

XKO02.05Z20.020.02.5 20 20 130 50
WP05  ¥Kk02.05220.020.02.M 20 20 180 100
XKO02.05220.020.02.L 20 20 250 130
XKOZ.06Z25.025.02.8 25 25 140 60
XK02.08Z25.025.02.M 25 25 200 120
XKO206Z25.025.02.L 25 25 300 180
WP08  ¥K02.06Z32.032.03.5 a2 a0 150 70
XK0Z2.06Z32.032.03.M 32 3z 200 120
XK02.086Z32.032.03.L 32 a2 800 180
XKO0Z.06Z32.040.03.8 40 32 160 50

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com




&l 7JE | MILLING TOOLS

EEEUHEAITIAR Indexable milling tools:

Xt NA

$ed|7]E | MILLING TOOLS
Indexable milling tools TSI

Adapter| Tooth Weight
E::3m] w | 2k

XKO2.06Z32.040.03.M 40 32 250 50 Z 3 15
WP06
XK02.06Z32.040.03.L 40 32 300 50 z 3 18
XK02.08232.040.02.5 40 a2 150 50 Zz 2 0.9
WP08 XK02.08Z32.040.02.M 40 32 250 50 z 2 15
XKO0Z.08Z32.040.02.L 40 32 300 50 z 2 19
xxoznszaf_-oso.oz,s 80 32 150 50 z 2 19
WPO08
XK02.09Z32.050.02.M 50 32 250 50 F4 2 2.5

* 7)R M Span

JF Insert 2 5= Wrench

o

WPGTO0BE0415ZSR TL60 M4X10 Ti8T
WPGT080615ZSR

TL60M5X12 TL80 M5X12 WwbD208 T20T
WPGT090725ZSR

HE: EETREUSFTRMHBERMENS .  Note:The insart is Zecet brand.

—(BRoTECH

k JIRAHREEIS Type of Milling TE

E& R (mm) Dimension Adapter| Tooth Weight
#0 | ky | ER
WP0E  XK02.06A22.050.04 50 40 22 50 A 4 04
XK02.08A22.050.03 50 40 22 50 A 3 04
XKOZ2.08A22.063.04 63 50 22 50 A 4 0.7
XK02.08A27.063.04 €3 50 27 50 A 4 0.7
wpPos
XK02.08A27.060.05 80 60 27 50 A 5 1.5
XKOZ.08B32.100.06 100 70 32 63 B L] 2.2
XK02.08840.125.07 125 80 40 83 B 7 35
XK02.08B40.160.08 160 100 40 63 B 8 6.0
XKO0Z09A22.063.03 63 50 22 50 A 3 0.7
XK02.08A27.080.04 80 B0 27 63 A 4 1.4
WP0g
XK02.09832.100.05 100 70 az 63 B 5 21
HKODZ.09B40.125.08 125 80 40 63 B 6 3.7
XK02.09B40.160.07 160 100 40 63 B 7 6.3

THERGEFHARGET® N8N tbwew.hnsant.com TEREEFWABH A 11855 M www.hnsant.com



#rEl7JE | MILLING TOOLS §A“I #El7JE | MILLING TOOLS

AIEAUBEHITIR Indexable milling tools: Indexable milling tools ETREITIE

X it 4 71 A VO @ P MO
XKO03

T K Insert TIEMET Insert Screw #F Wranch

WNMX08T316ZNN-MM TL60 M3X7 T10

AR Insert FTIH 4T Insert Screw #F Wrench
(o} 7 *

WNMX09T316ZNN-MM TLE0 M3X7 T10T

HH: EENRERNSEHEFRENR,. Note:Theinsertis Korloy brand. EENEBNSE= RS SMIIE . Note:The insert is Korloy brand.

—(BRoTECH

Typa EXR(mm) Dimension Adapter Eﬁ' Ewlezlg(;; Typa E X R~ (mm) Dimension Aéﬂl%ter Vgiihi
R

-“__ = “-“- G
XK03.09225.025.02.% z 2 05 XKO03.08A186.040.04 40 40
XK03.08Z25.025.02.M 25 25 200 120 z 2 08 XKO3.00A22 050.05 50 40 22 40 A 5 0.3
XK03.08Z25.025.02.L 25 25 300 180 Z 2 1.0 XKO03.08A22.083.08 B3 50 22 40 A 6 05
XK03.09232.032.03.8 a2 32 150 70 z 3 08 XK03.09A27.080.07 80 80 27 50 A 7 11
XK03.08Z32.032.03.M 32 32 200 120 z 3 1.4 XK03.09832.100.08 100 70 a2 50 B 8 17
XK03.09232.032.03.L 32 32 300 180 z 3 7
XK03.09232.040.04.5 40 32 150 50 z 4 08
XK03.09Z32.040.04.M 40 a2 200 50 2 4 13
XK03.09Z32.040.04.L 40 a 300 50 z 4 18

THERGEFHARGET® N8N tbwew.hnsant.com TEREEFWABH A 11855 M www.hnsant.com




#EHIJJE | MILLING TOOLS
EIEAUAHITIR Indexable milling tools

* JIAM# Spare part

T K Insert R E ST Clamping Screw #5F wrench

& > $

WXMUO080612R-GM TLEOMSEX13 T20

Hl: RENDESHSY. Y FHE. Note:Replaceable with Zeeet/Iscar brand inserts.

|
—(BROTECH

Type EZ R (mm) Dimension Adapter| Tooth Weight
L= O | a5l
T T [ = (ko
XK04.08A22.050.04 48 50 22 * 45 2.0 A 4 03
XK04.08A22.063.08 81 63 22 45 2.0 A 5 0.5
XK04.08A32.080.08 76 80 32 55 2.0 A 6 1.1
XK04.08832.100.07 80 100 32 50 2.0 A 7 1.75

Y 7] Bi%3E Matching Insert

& RF(mm) Dimension

S Type

WXMU0B061 2R-GM ]

M T O
'k CT m
wEam
WAL, Had
R

® WHEER unallocated stock O TTHEETE Available stock H #EFE Malnapplication [ #hifR K B Extended application

TRAGEFNERSE & FN 2N Nwww.hnsant.com

i
CatNo

¥R e

Stacked Letms
EXNO3R-16-100-C16-2T
EXNOIR-16-160-C16-2T
EXNO3R-17-100-C16-2T
EXNO3R-17-160-C16-2T
EXNC3R-18-100-C16-2T
EXNO3R-18-160-C16-2T
EXNO3R-20-130-C20-3T
EXNO3R-20-160-C20-3T
EXNO3R-21-130-C20-3T
EXNO3IR-21-160-C20-3T
EXNOIR-22-130-C20-3T
EXNC3R-22-200-C20-3T
EXNO3R-25—160-C25-4T
EXNO3R-25-200-C25-4T
EXNO3IR-26-160-C235-4T
EXNO3R-26-200-C25-4T
EXNOIR-28-160-C25-4T
EXNO3IR-28-200-C28-4T
EXNO3R-30-160-C32-5T
EXNO3R-30-200-C32-5T
EXNO3R-32-160-C32-5T
EXNO3R-32-200-C32-5T
EXNO3R-35-160-C32-5T
EXNC3R-35-200-C32-5T

16
17
17
18
18
20
20
21
21
22
22
25
25
26
26
28
28
30
30
32
32
35
35

$EEI7JER | MILLING TOOLS
Indexable milling tools AR HITIE

9.6
105
105
15
115
135
13.5
145
145
15.5
15.5
185
18.5
18.5
18.5
215
215
23.6

235

25.5
25.5
28.5
285

16
16
16
16
16
20
20
20
20
20
20
25
25
25

R Size

| Ry g
oo oo [ ea [ u ] o w e
16 9.6 16 a5 100 1 2

& & 88 8 8 & &

m
o

160
100
160
100
160
130
160
130
180
130
200
160

200

160
200
160
200
160
200
160
200
160
200

&k, 5EERIETIEER. Note: Replaceabls with Tungaloy brand inserts.

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

Camk
i o th th o A R R B OB W O K DWW OLONONN NN

Applicableinserts | Wrench| Screw

LNMUO303ZER TOB  M2.5X6.5



#E%EEI7JE | MOLD MILLING TOOLS BHI §BHI #E%:4I7JE | MOLD MILLING TOOLS

AIHEAUSAHITIR Indexable milling tools Indexable milling tools FIF{ZELHITIR

K4 7] 2L wnsor VO @ P OVO
TE90

Roughing Finish

71 B 45T insert Screw #F Wrench
e *

=

| R¥s=  lew| mmos | 53 | s@
d n“n Teeth | Applicableinserts | Wrench | Soew
40 84 1 55

EXNO3R-040-A16-6T 40 336 16 : : 6 .

EXNOIR-050-A22-8T 50 436 22 50 104 1 63 B @') 9‘/ ’
EXNO3R-063-A22-9T 63 566 22 50 104 1 63 9 |NMUO30D3ZER  TOB  M25X65
EXNO3R-080-A27-10T 80 736 27 50 124 1 63 10

4NKT060308 TLEOM3X8 Ti0

HR: BEENFSHE=RSENEE M. Note;Replaceable with Taegutec brand inserts.

—(BROTECH

Eik: SEZRB7ERH. Note: Replaceable with Tungaloy brand inserts,

A& RF(mm) Dimension A;algter Tooth
| od [ @0 [ | H | i e
16 18 2

TE90.06D16.016.02.L100 100 25 [ z
% J]Bi%#E Matching Insert TE20.06016.016.02.L160 18 16 160 25 8 z 2
= TES0.06D20.020.03.L110 20 20 110 25 8 z 3
§ TED0.08D20.020.03.L160 20 20 160 25 8 z 3
N
® TES0.06D20.020.03.L200 20 20 200 25 8 z 3
TES0.08D25.025.04.L160 25 25 160 30 8 4 4
TES0.06D25.025.04.L200 25 25 200 30 & z 4
p [ EEEE @
TED0.06D32.032.05.L160 32 32 180 as 8 z 5
M T&E@m EECON S
TES0.06D32.032.05.L200 32 32 200 35 6 z 5
k[T mE = m o
i TE90.06D32.035.05.L160 32 35 160 a5 6 z 5
HaeR — ]
TES0.06D32.035.05.L200 32 35 200 35 6 z 5
Whae. hee
TE90.06D32.040.06.L160 32 40 160 40 6 z 6
EEHE
: TES0.08D32.040.08.L200 32 40 200 40 8 z 8
® EE&ER Unallocatedstock O AT EEERE Available stock M 3% 5 Main application [] /B Fl Extended application _
.  TE90.08D32.040.06.L250 32 40 250 40 8 z 6

TRAGEFNERSH R FWTEERSwww.hnsant.com TREAMSEFINREHET 71025 M thwww.hnsant.com



#iElJJE | MILLING TOOLS
AEAEHITIR Indexable milling inal—s

1% = Wrench

1538 5T Insert Screw

e
-
N .

4NKT080308 TL60OMZ2.5X6.5 T08

El: EEDRERERMAETIFEM. Note:Replaceable with Tasgutec brand inserts.

Typs EXR~H(mm) Dimension Aéter Taoth V:Eht

s oo T o [ o [ [ = |#x | 8] O
TES0.06A22.050.08 4D 50 22 50 6.0 A 6 0.4
TES0.08A22.083.08 50 63 22 50 6.0 A 8 0.6
TES0.08A27.080.10 60 80 27 50 6.0 A 10 1.0

% J]B%&$E Matching Insert

8 E Type

Y szsias

4NKTO0S0308R

M T Om

Kk [T 0
BEam
RAAS, AR ¢
SR

M & FH Main application [ #f& B A Extended application

TRAGEFNERSE & FN 2N Nwww.hnsant.com

® HEER Unallocatedstock O AIEEERE Available stock

—(BROTECH

TREAMSEFNE WEHT & 1710028 P siwww.hnsant.com

$EEI7JER | MILLING TOOLS
Indexable milling tools FEEREHITIE

K insert Wi} Side Cutting Insert I W4T Insert Screw #=F Wrench

APKT150412 SPMT120408 TL6O M5X12 T20
HHH: BEEAFEUSEHHMEE. Note:The Inserl Is Zoeet brand.
* 71 MBS Type of Milling
Type _ EAR(mm) pimension };gtsr ._';;:' ;v:?:;)
== | o0 | @
PH01.12W40.040.02.E55 40 40 175 o5 55 w 02 1.2
PHO1.12W40.050.04.E55 50 40 175 85 55 w 04 1.5



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



:u.ﬁm&m\u



tu.ﬁmﬂm\u



A1

I ¢EMI7J8 | DRILLING TOOLS

Hale-machining Tools 70T715

AR LS " Cf: 3ok ¥R Y
UD20 L UD20 :

Ll Lz

£bMI7]E | DRILLING TOOLS L ,,n

@1
@ nz

@
@ o2

UD20.3P0S.128.W20 125 20 25 50 26 4 LeoM2x 4.3 TD& UD20.8PF0D.205.W32 285 32 45 &0 58 148 LEOMA.Gx 8 T10

UD20.8P08.130.W20 130 20 25 50 28 84 LBOM2x 4.3 TOB UD20.5P00.200.W28 200 25 45 58 58 142 LBOM3.6% 8 T10
UD20.8POS.135. %20 135 20 25 50 28 46 o LBOM2x 4.3 ToB UD20.8F0D.290.W32 280 32 45 60 58 146 LEOMA.5x8 Ti0
UD20.5P0S.140.W20 140 20 26 50 28 96 LEOM2x 4.3 T08 UD20.SP00.208.W32 205 32 55 60 60 161 LBOM3.6x8 T10
UD20.$P0B.148.W20 146 20 26 50 40 99 LEOMZx 4.3 Toe UD20.8P00.295.W40 205 40 55 70 &0 161 LBOM3.5x A Ti0
UD20.3P08.180.W20 150 20 25 &50 30 99 LB0M2x 4.3 To& = UD20.8P0D.300.W32 300 32 65 60 60 161 LBOM3.5x8 Ti0
UD20.3P0G.108.W28 155 25 32 56 32 108 LeoM2.2 % 5.5 TO7 Q UD20.8P0D.300.W40 300 40 55 70 &0 161 LGOM3.5%8 Tio
UD20.8P0S.180.W28 160 25 32 56 32 108 LBOM2.2x 5.5 To7 hl 1 UD20.8P00.308.W32 505 32 66 60 62 154 LEOMA.5x 8 T10
UD20.5P08.165. W28 165 25 32 56 34 110 LE0M2.2x 5.5 TO7 | UD20.BP08.305. W40 8305 40 55 70 62 184 LBOM3.5%8 T10
3:::-::::-:::-::: :7-0. 25 :: 56 34 110 LBOM2.2x 5.5 To7 Q UD20.8P09.310.W32 310 32 56 60 62 154 SPLC1090408 LEOMB.5x8 T10
AAROSEIN, Tk el abaE i £5.0 i UD20.SPOS.310.W40 310 40 55 70 62 164 LBOM3.6x8 T10

UD20.3P0Q.180.W28 180 26 32 5B 36 113 LBOMZ.2% 5.5 T07
UD20.8P09.318.W32 3515 32 55 60 &4 156 LBOM3.ExA Tio

UD20.8POS.1B5. W28 185 25 42 56 38 116 EPCICI080204 LBOM2.2 % 5.5 TO7
D26 SRR 180 a6 1a0 o= | us | oh s | s Tk i % UD20.SP0S.316.W40 315 40 55 70 64 166 LBOM3.5x8 Ti0
IID20.SP06.I u.wzu 19'5 SE %5 [ Eg | d6 THh Leouelz:sls Tor UD20.8F09.320.W32 320 32 55 &0 84 158 LeOM3.5% 8 Ti6
UD20.8P0Q.200.W28 200 26 32 56 40 119 LBOM2.2x 5.5 T07 ::::‘:::‘:::‘::: ::'g ;: g: e HEA LR H
UD20.9P08.205.W2E 205 26 32 66 42 121 LBOM2.2x 5.5 T07 FAPA. 323 : T ol L
UD20.SPOS.210.W28 210 25 32 56 42 121 LEOM2.2%5.5 To7 MDIAPR AARNAD. [SS0, e0 o0, 170 8s (088 Ka0Ms Bl e
UD20.8P08.218.W28 215 25 32 58 44 123 LBOM2.2 5.5 T07 UDEC.GFOD,330.W3E 33.0 32 E5 60 | 66 16D LBOMz.58 T10
UD20.8P07.220.W28 220 25 92 56 44 123 LBOM2.5x 8.5 TO8 UD20.8P00.330.W40 530 40 55 70 486 168 LBOMA,5 <8 L
UD20.3P07.220.W28 225 25 45 56 46 127 LEOM2.5x 8.5 Tos uD20.8P11.340.Wa2.  |R5.0| 42 | 55| 60 | 68 | 181 LBOM4 x 10 T15
UD20.8P07.225.W32 205 32 46 60 46 131 LBOM2.5x 8.5 T08 UD20.8P11.340.W40 340 40 55 70 @8R 171 LOgMdx10. Ti5
UD20.6P07.230.W25 230 25 45 &6 48 127 LEOM2.5 x 6.5 T08 uD20.8P11.330.Was8 350 32 66 60 | 70 | 164 LEOM4x 10 T18
UD20.8P07.230.W32 230 32 45 60 48 131 LEOM2.5 % B.5 TOB UD20.8P11.380.Wa0 350 40 55 70 70 174 LBOM4x 10 T15
UP20.3P0OT.238.W28 235 25 45 56 48 130 LBOM2.5% 6.5 T8 upD20.8P11.3860.W32 360 32 655 60 72 167 LEOM4 2 10 Ti5
UD20.8P07.235.W32 235 32 45 B0 48 134 LBOM2.6 X 8,5 To8 UD20.8P11.380.W4A0 360 40 55 70 73 177 LBOM4x 10 Ti5
UD20.8PO7.240.W23 240 26 46 58 48 130 LBOMZ.5x 8.5 TO8 UD20.8P11.370.W32 37.0 32 55 60 74 170 LBOM4x 10 Ti5
UD20.SP07.240.W32 240 32 46 60 48 134 LBOMZ2.5x 8.5 TOB UD20.8P11.370.W40 370 40 5§ 70 74 180 SPOIC110408 LBOM4x 10 Ti5
UD20.8P07.245.W28 245 25 45 58 &0 193 LBOMZ2.5x 6.5 TO8 UD20.SP11.380.W32 380 32 55 60 78 173 LEOM4x 10 Ti6
UD20.3P07.248.W32 245 32 45 B0 &0 137 LBOMZ.5% B.5 To8 UDZ20.8P11.380.W40 380 40 55 70 76 183 LEOM4 X 10 T15
UD20.3PO7.250.W28 D250 25 45 58 50 133 SPLIC07T308 L8OM2.5% 8.5 To8 UD20.3P11.380.W32 35.0 32 55 a0 78 176 LBOM4 %10 Ti6
UD20.8P07.250.W32 250 32 45 BD 50 137 L8OM2.6 x 8.5 T0B UD20.8F11.390.W40 390 40 E§ 70 78 188 LBOM4 x 10 Ti5
UD20.6P07.258.W28 255 25 46 56 52 135 LEOM2.5xB.5 Tog UD20.8P11.400.W32 40.0 382 &0 80 B0 178 LBOM4x% 10 T16
Ub20.5P07.208. W32 255 32 46 80 52 144 LEOM2.5x 8.5 TOB UD20.8P11.400.W40 400 40 €0 70 B0 188 LAOM4 %10 Tig
UD20.8POT.280.W28 260 25 45 bG8 62 135 LEOM2.5x 6.5 TOA UD20.3P11.410.W40 410 40 80 70 B2 191 LEOM4 % 10 T15
UE20.5P07.280. W32 260 82 45 B0 B2 139 LEDM2.5% 6.5 TOB UD20.5P14.420. W40 420 40 60 70 B84 193 LBOMSx 13 T20
3:::-::::-:::-::: :gg :: 45 56 54 197 LBOM2.5x 6.5 T08 UD20.8P14.430.W40 430 40 80 70 86 196 LEOMS % 13 T20
MPOT2RY. : 45 80 54 141 LEOM2.5x 5.5 T08 UDZO.BP14.440.W40 440 40 60 70 B8 188 LBOMEx 13 T20

UD20.8P0O7.270.W28 270 25 46 56 54 137 LBOMZ.5x 8.5 Tos
. UD20.8P14.480.Wa0 450 40 60 70 90 202 LEOMS 13 T20

UD20.8POT.2TO.W32 270 32 45 B0 54 14 LEOMZ.5x 8.5 ToB
il e Sl e AL o A T e UD20.8F14.460.W40 450 40 60 70 92 206 SPLIC140512 LooMBx 13 T20
e UD20.8P14.470.W40 47.0 40 60 70 04 207 LEOMS x 13 T20

UD20.SPOT.273.W32 275 92 45 B0 56 144 LBOMZ2.5% B.5 To8 ibas iRiLARR e

UD20.8P0%.280.W28 280 25 45 56 58 140 LEOM3.5%8 Ti0 ub '” ) " 4By A0 08| 10 AR L 2R L s L=y
UD20.3P09.280.W32 280 32 46 B0 56 144 SPCI090408 LEOM3.6x8 T10 20.8P14.490.W40 400 40 60 70 98 212 LEOMS5x 13 T20
UD20.3P0S.260.W28 255 25 45 56 58 142 {iskid s i UD20.SP14.500.W40 500 40 &0 70 100 215 LEOMS % 13 T20

TRAGRPNRNRAET R ERWER T Ewww.hnsant.com TRRERFRARYRT R W WER M www.hnsant.com




f#hEI7JR | DRILLING TOOLS fhHI7JE | DRILLING TOOL

FMITIA  Hole-machining

AR RIS S CIE T08: 2R
UD30 L UD30 L

L

LBOM3.Ex8

UD30.SPOS.128.W20 125 20 25 50 39 107 L50M2 x 4.3 To8

Up30.5P09.200. W28

UD30.8P0S.130.W20 130 20 25 S0 3% 107 LBOMZ % 4.3 Tos UD30.8P09.280. W32 200 32 46 60 B4 172 LBOM3.6x 8 Ti0
UD3I0.8POB.138.W20 135 20 25 50 42 110 SROI0s0204 LEOM2 % 4.5 TO6 UD30.SPOB.208. W28 285 26 45 68 87 171 LBOM3.5x 8 T10
UD30.8P0B.140.W20 140 20 26 50 42 110 L8OM2 % 4.3 Tos UD30.8P08.288.W32 285 82 45 56 87 171 LBOM3.5x 8 Tio
UD30.SPOS.145.W20 145 20 25 S0 45 114 LBOMEZ x 4.3 TO8 UD3I0.SPOS.Z00.WAS  20.0 25 46 8 &7 1A LOGMS,5x 8 T10
T e e e ey EnGagi e a T = UD30.8POS.200.WS2 200 32 45 60 87 178 LBOM3.5x 8 Ti0

= i : : UD30.8P00. 204 W32 2594 32 55 B8O 50 1B LeoMa.5x8 T10
Up3IC. P0G 188 W28 166 25 92 &6 48 124 LAOM2.2 x5.5 To7
30 ShOR 760 bias = UD30.8POS.204.W4D 254 40 55 70 50 181 LBOM3.5% B Ti0

2.8P04.180. 16.0 25 56 48 124 LEOM2.2x 5.5 To? UD30.8PCD.2BB.W32 205 32 55 60 80 181 LBOM3.5 % B TI0
uUD20.SPOS.188.W28 186 25 32 56 51 127 L6OM2.2x6.5 TO7 “-l UD30.8PO8.2B8.W40 265 40 55 70 B0 181 LBOM3.5% 8 Ti0
UD30.SP0S&.1 T0.W2E 170 25 32 58 51 127 L8oM2.2x5.5 TO7 h UD30.SP0S.300. W32 300 82 55 60 B0 181 LBOMS.ExB Ti0
Ubao.8Po8.173.W23 175 25 32 S8 54 181 LBOM2.2 % 6.6 TO? = UD30.5P09.200.W40 300 40 55 70 B0 11 SPCICI080408 LBOMS.ExB TiQ
UD30.5P06.1B0.W28 180 25 232 66 54 13 LOOMZ2.2 x 8.5 To7 UDS0.2POD.2DB.WS2 305 32 66 60 B3 185 LEOMS.5 x 8 T10
UD20.8P0B.185. W28 185 25 32 58 57 134 SFEIEEDI0S LBOMZ.2%5.5 To7 t UDS0.$POR.20B.W&ED A0D6 40 66 70 P3 195 LEOMS.5x 8 Ti0
UD30.8FOG.18D.W28 180 25 32 &8 &7 134 LBOMZ2.2 % 6.5 TO7 a UD30.5POR.310.W332 .0 32 66 60 93 185 LEOM3.5 % 8 Ti0
UD30.5POC.1BB.W2E 165 26 32 56 @0 130 LaOM2.2%5.5 To7 UD3I0.SPOB. 310 W40 310 40 65 70 83 195 LEOM3.E= 8 T10
UD30.8P08.200.W28 200 25 32 56 60 158 LBOM2.2 5.5 To? 3:::-:m-:::-::= g:-g ig gg gg :g jlgg 'Eggmg-g": ng
UD30.8P0E.208.W28 205 26 92 68 B3 142 LEOM2.2 % 5.5 TO7 ' 318, \ Ex

- UD30.8P0S.320.W32 320 82 55 80 58 186 LEOM3.5x 8 Tio

UD30.6P0G.200.W2E 200 25 32 S8 €3 142 LeoMZ.2x5.5 To7 UD30.SPOD.320.W4D 320 40 55 70 o8 198 L60MA.5 & 16
UD30.8P0B.210.W25 210 25 32 58 B3 142 LAOM2.2 % 6.5 TO? UD30.8PCR.325. W32 425 32 55 80 09 182 LBOMS. 5 x 8 T10
UD30.SP06.218.W28 216 25 32 56 66 145 LBOM2.2x 5.5 T07 UD30.8POD.325. W40 325 40 55 70 99 202 LBOMA.5 x 8 T10
vp3I0.SP07.220. W2 220 25 32 58 866 145 LAOM2.5x% 8.5 TOB UD30.8P0R. 350, WiE 330 32 55 B0 B9 149 LBOMS.5 % 8 Ti0
UD30.8P07.225.W25 225 25 45 B8 6 160 LGOM2.5% 6.5 T08 UD30.8POR.330.W40 330 40 55 70 B9 202 LBOM3.5x 8 Ti0
UD30.8P07.228.W32 225 32 46 80 8% 154 LBOMZ2.5% 8.5 ToB UD30.8P11.340.W32 340 82 65 B0 102 195 LeOM4x 10 T16

8 230, 0 25 45 58 89 180 LBOMS2.5x 6.5 TOB UD30.8P11.240.W40 340 40 66 70 102 206 LBOM4 %10 T15
UR30.5P07,.230.W28 230 2 %
UD30.8P07.230.W32 230 32 46 80 60 154 LEOMZ2.5x 8.5 Tos UD30.5P11.380.W33 360 32 66 B0 105 199 LEOM# % 10 T15
UD30.3P07.238.W28 235 25 45 S8 72 154 LaoM2.5xB.5 ToB UD30.5P11.380.W40 360 40 66 70 103 200 LBOM4 %10 T1k
UD30.5P07.23B.W32 235 32 45 60 72 158 LBOMZ2.5 % 8.5 TO8 ::::-::::-:::-::: gg-g :g gg 33 :gg :?g t:gm::g E:
UD30.8P07.239.W23 239 25 392 66 72 154 LBOM2.5 % 8.5 To8 - A :
UD30.8P07.230.W32 230 32 45 B0 72 158 LBOMZ.5xB.5 To8 3:::::::':;2'::: g;'g 25 g: gg S tggm:}g Hg
UD30.9PO7.R40WRB 240 25 45 568 72 164 L6OM2.6 % 6.5 T08 UD30.SP11.375.W32 375 52 55 B0 114 211 LBOM4 10 T48
UD30.8PO7.240.W32 240 32 456 80 72 158 L8OM2.5xB.5 TO8 UD30.8P11.378.W40 375 40 55 70 114 221 BRI 10408 LBOMA4 % 10 T3
unan.seo7.248.WaA 246 25 | 45 56 75 1566 LAOM2.6x 6.6 08 UD30.8P11.380.W32 360 32 55 60 114 211 LBOM4 x 10 Ti5
UD30.8P07.248,W32 245 32 46 &80 76 162 L6OM2.5x6,5 To8 UD30.8P11.380.W40 380 40 55 70 114 224 LBOM4 x 10 Ti5
UD30.8PD7.230.W23 050 25 45 58 75 158 &P 0077308 La0MZ2.5% 6.5 TOB UD30.8P11.300.W32 300 32 S5 60 117 214 LBOM4 % 10 T15
UD30.SP07.280.W32 250 32 45 60 75 162 LAOM2.6% 6.5 TOB UD30.8P11.300.W40 300 40 B 70 117 224 LBOM4 10 Ti5
UD30.8P0O7.288. W28 255 256 46 B8 78 181 LAOM2.5x 8.5 TO8 UD3o.sP11.400.W32 400 32 80 60 120 218 LeOM4 %10 T15
UDID.8PO7.285.W32 266 32 45 60 78 185 LBOM2.5%86.5 TOB UD30.8P11.400.W40 400 40 B0 70 120 228 LeoM4 x 10 TS
YD30.5P07.260. W28 280 25 45 B8 78 161 LEOM2.E % B.5 TOS UD30.8P11.4DB. W40 406 40 B0 70 123 232 LBOM4 %10 T16
UD30.8PO7.260.W32 260 32 45 60 78 185 L8OM2.5% 6.5 T08 UKL S0 11.410.WA8 310 40 LoD L 70 1 Be uaouen1d 1P
UD30.8PO7.284.W28 264 25 45 56 B1 164 LBOM2.5% 8.5 TO8 ::::'::::'::3'::: R A e 3 o
UD30.SP07.264.W32 264 32 45 &0 &1 108 L6OM2.5x6.5 T08 UDSO.SP14AOWAD 440 40 60 70 132 2i2 Lsomex 13 T20
UR0.AP0) 26 W28 265 26 | 45|86 | 41 | 164 LadMEaxBS 708 UD30.5P14.4B0.W4D 450 40 B0 70 135 247 LBOME x 13 T20
UoD3n.srar.270.Was 270 25 45 &8 &1 1864 LAOM2.5x 8.5 TOS UD30.5P14.470. W40 47.0 40 60 70 141 24 LEOME 13 T20
un30.8P07.270.W32 270 32 45 80 B1 188 LBOM2.5xB.5 ToB UD30.8P14.4B0.WdD 480 40 80 70 4144 25§ LBOME =13 T20
UD30.8PO7.278.W28 2756 25 46 58 84 168 L60M2,6 % 8.5 TO8 UD30.8P14,400.W40 400 40 B0 70 147 281 L6OMEx 13 T20
UD30.8PO7.3TE.W33 275 32 45 60 &4 172 LBOMZ.5%B.5 To8 UD30.8P14.500.W40 500 40 80 70 150 265 LBOMB x 13 T20

m#ﬁ*#ﬁﬂﬂﬁﬂr#:’#ﬂﬂ‘!ﬁﬂﬁwww;hnnam;mm ' ! Tﬂlﬁlﬁﬁﬁﬁﬁir W SN Rwww.hnsant.com




£hE)7JE | DRILLING TOOLS

SANT
s

UubD40 L

&
@z

E&RHmm) Dimenslan.
us oot o2tz oL

L]

UDJ0.SPOS.120.W20 125 20 25 50 52 120 LBOMZ %43 To8
UPb40.8P0O3. 150 W20 130 20 26 S50 52 120 LaoM2x 4.3 TO8
UD40.8POB.138.W20 135 20 25 B0 &6 124 e LBOM2x4.3 Tog
UD40.SPOB.140.W20 140 20 25 5D 58 124 LEOM2x4.2 TOR
UD40.SPOB.145.W20 145 20 25 50 60 128 LBOM2x 4.3 TOB
UD40.8P03.130.W20 150 20 25 50 B0 128 LBOM2 x 4.3 TOB
UD40,.SPOS.1B5. W25 155 25 32 58 B4 140 LBoM2.2 5.5 TO7
UD40.SPOS. 160 W28 160 25 322 B8 84 140 LBOM2.2x 5.5 To7
UD4D.SPOS.1GB.W28 165 25 52 GB8 B8 144 LBOM2.2 % 5.5 TO7
UD40.8POB.17O.W28 170 25 32 658 B8 144 LBOMZ.2x 5.5 TO7
UD40.8POB.17TS.W25 175 25 32 58 72 148 LBOMZ2.2%5.5 TO7
U400, 8P06,100. W28 180 25 352 58 72 148 LaoM2.2x 5.5 TO7
UD40.5P0S.188.W28 185 25 32 56 78 153 SPI1080204 LBOM2.2% 5.5 To7
UD40.SPOS.180.W28 180 25 932 68 76 163 LBOMZ.2% 5.5 TH7
UD40.8P0B.193.W23 105 25 32 56 B0 168 LBOM2.2% 5.5 TO7
UD40.SPOS.200.W25 200 25 32 58 B0 168 LeoM2.2% 5.5 TO7
UR40.SPOG.20B.WRE 205 25 32 58 B4 183 L&OM2.2x 5.5 Toz
UD40.SPOS.210.W28 21.0 25 32 58 B4 183 LEOM2.2x% 5.5 TO7
UD40.8POS.210.W28 215 25 92 68 B8 187 LBOM2.2 % 6.5 TO7
UD40.8POT.220.W25 220 25 52 58 B8 167 LBOM2.5% 8.5 TOR
UD40.8PO7.228.W28 225 25 45 58 B2 173 LaoM2.5% 8.5 TOB
UD40.SPO7.228.W32 225 382 45 B0 82 177 LAOM2.5x 8.5 Tog
UD40.SPOT.230.W28 230 25 456 56 b2 173 LEOM2.5x 8.5 TOB
UD40.8POT.230.W32 230 232 45 B0 92 17T LBOM2.6% 8.5 TOR
UD4D.SPO7.236.W25 235 D5 45 EB DB 178 LE0M2.5% 8.5 TDE
UD40,3P07.238.W32 235 32 45 B0 BB 182 LaOM2.5% 8.5 TOB
UD40.5POT.340.W28 240 25 45 58 598 178 LEOMR2.5x 6.6 TO8
UD40.8F07.240.W32 240 32 32 B0 98 182 LBOM2.5% B.5 Tog
UD40.8BPOT.240.W23 245 25 456 656 100 183 LAOMZ2.5% 6.5 ToR
UD40.8PO7.24B.W32 245 32 45 B0 100 1B7 LBOM2.5% 6.5 TOB
UD40.SPOT.280.W28 250 25 45 &6 100 183 SPCII07T308 LBOM2.5% 8.5 TOB
UD40.SPOT.280.WS2 250 52 45 B0 100 187 LEOM2.5x 6.6 To8
UD40.SPOT.255.W23 265 256 46 56 104 167 LEDMZ2.5% 6.5 TOR
UD40.SPO7.205. W32 255 22 46 60 104 191 LAOM2.5% 8.5 ToE
UD40.3PO7.260.W28 280 25 45 68 104 1{BT LA0M2.5% 8.5 TOB
UD40.BPO7.260.WS2 280 32 45 60 104 1B1 LAOM2.5% 8.5 Tog
UD40.8PO7.260.W28 265 25 45 58 108 184 LEOM2.5xE.5 TO®
UD40,.8POT.265. W32 2666 22 45 B0 108 185 LBOMZ2.5 8.5 TO8
UD40.8P07.270.W28 270 25 45 56 108 191 LBOM2.5% 6.5 TOR
UD40.SPOT.2TO.WI2 270 32 46 60 108 195 LAOMz2.5% 8.5 TOB
UD40.SPOT.2TE. W28 275 25 45 66 112 198 LEOM2.5% 6.5 ToB
UD40.8POT.27T3.W32 275 32 45 BO 112 200 LBOMZ.5x 8.5 TO®
UD40.8P0S.280.W25 280 25 45 56 112 198 LBOMS.5x%B T10
UB40,8P00.260. W32 280 232 48 80 112 200 SPOO090408 LBOM3.5%8 T10
UD40.SPOD.2BB.W2B 285 25 45 68 116 200 LEOM3.5% 8 Ti0

TRAGRFMANRE R FINERA Swww heant.com

SANT

o] ¥ {2 e 7L %G
UuD40

UD40D.BPOD.28B.W32 265 32 45 B0 118 204
UD40.8P0S.290.W28 200 26 45 66 116 200
UD40.8POD.290.W3Z 290 32 45 B0 118 204
UD40.8P00.208. W32 205 32 BB B0 120 214
UD40.6P0S.285.W4D 295 40 55 70 120 221
UD40.8P0S.300. W32 300 32 B6 B0 120 211
UD40.8POS.300.W4D 300 40 55 70 120 221
UR40.8P09. 308, W32 305 32 55 B0 124 218
UD40.8POD.30B.W4D 305 40 55 70 124 228
UR40.8P09.310.W32 310 32 65 B0 124 218
UD40.8POD.310.W4D 310 40 55 70 124 228
ubD40.8P09.318. W32 315 32 56 B0 128 220
UD40.8POS.318.W4D 515 40 55 70 128 230
UPp40.8P09.320. W32 320 32 B85 B0 128 220
UD40.BPOD.3Z0.W4D 520 40 55 70 128 290
UPD40,.2P0D. 320 W32 325 32 55 B0 132 225
UD40.8POD.328.WAD 325 40 B6 70 132 236
UD40.8P09.330.W32 33,0 32 55 BD 182 225
UD40.8POD.330.WAD 530 40 E6 70 132 236
UD40.8P11.340. W32 340 32 55 B0 136 228
UD40.8P11.340.W4D 540 40 E6 70 136 239
UD40.2P11.360. W32 350 32 55 B0 140 254
UD40.8P11.350.W40 350 40 B6 70 140 244
UPR40.8P11.360. W32 360 32 55 60 144 238
UD40.8P11.360.W4D 380 40 56 70 144 249
UR40.3P11.370.W33 370 32 55 BO 148 244
UD40.8P11.370.W4D 37.0 40 55 70 148 254
UD40.9P11.380.W32 380 32 55 B0 162 240
UD40.6P11.380.W40 380 40 55 70 152 258
UD40.8P11.300.W32 390 32 55 B0 166 253
UD4D.8P11.380.W4D 390 40 65 70 156 283
UD40.SP11.400.W32 400 32 60 B0 160 258
UD40.8P11.400.W4D 400 40 60 70 160 2BB
UD40.SP11.410.W40 410 40 B0 70 164 273
UD40.8P14.420.W4D 420 40 B0 70 188 277
UD40.5P14.430.W40 430 40 B0 70 172 282
UD4D.8P14.440.W4D 440 40 080 70 176 288
UD40.5P14.480.W40 450 40 B0 70 180 282
UD4D.SP14.480.W40 480 40 80 70 184 287
UD40.SP14.470.W40 470 40 B0 70 188 504
UD40.8P14.4B0.W4D 480 40 80 70 192 508
UD40.5P14.400.W40 400 40 B0 70 196 310
UD40.8P14.500.W4D 500 40 B0 70 200 916

TRRERNEHRATS FHRER dwww hnsant com

SPO[1080408

8POIO110408

SPOIC140512

LBOM3.5x B
L8OMS,5% 8
LBOM3.5x B
LEOMS.5% 8
LQDM5.5:{B
L8OM3.5x8
LBOM3.Ex B
L8OMS,5% 8
LB0OM3.5x 8
LBOMS,5%8
LBOM3.5x8
LEOMS,5x8
LBOM3.6x 8
LBOMS,5% 8
LBOMS.Ex B
L8OM3.5% 8
LBOM3.6x 8
L8OMS,5%8
LBOMB.Ex B
LBOM4 x 10
LB0M& x 10
LEOM4 x 10
LB0OM4A x 10
L8OM4x 10
LB0oM4 x 10
LEOM4 % 10
LBOM4 » 10
LaOM4 x 10
LBOM4 x 10
LaOM4x 10
LBOMA x 10
LE0OM4 x 10
LBOM4 x 10
LEOM4 x 10
LBOMB » 13
LEOMS x 13
LEOMBEx 13
LaoM5x 13
LBOMBEx 13
LE0MS % 13
LBOMAx 13
LeOMSx 13
LBOMBx 13

T0

T10
T10
T10
T10
T10
Ti0
T10
Ti0
Ti0
TI0
T10
T10
T10
Ti0
T10
Tio
T10
T10
T15
T16
T15
TiB
T15
Ti6
Ti5
T16
T15
T16
T15
Ti6
T15
T16
T15
T20
T20
T20
T20
T20
T20
T20
T20
T20




SANT

L TR LE
UD50 L

Hmm) pimension

S — I

o1 on 121 |

- W7 T
UDB0.SPOS.128.W20 125 20 25 50 65 133 LBOM2x 4.3 T08 UDBO.SPOD.290.W32 29.0 32 45 60 146 233 LBOM3.5XA T10
UDBO.SPOS.130.W20 130 20 28 B0 o5 133 LBOM2x 4.3 T08 UDBO.SPOS.29B.W32 295 32 BB 60 150 241 LBOM3.6X8 T10
UDBO.8POS.135.W30 138 20 28 B0 70 138 P LBOM2x 4.3 T08 UDBEO.SPOD.300.W32 300 32 55 60 150 241 LBOMS. EX8 T10
UDSO.9POS.140.W20 140 20 26 BO 70 13p LAOM2x 4.3 To8 : UDEO.SPOS.300.Wa0 300 40 56 70 180 281 L8OMS3.5X8 T10
UDBO.SPOS.14B.W20 145 20 25 60 76 144 LEOMZx4.3 To8 UDBO.SPOD.310.W32 310 32 55 60 166 247 LBOM3.5Xa T10
UD30.8P0S.130.W20 150 20 25 5!) 75 144 LEOM224.3 T8 u UDE0.SPOD.310.W40 310 40 55 70 155 267 RECIERR0I0e L&0M3.EXa Tio0
UDSO.SPOS.1B0.W28 155 25 32 56 80 158 LBOMZ.2%5.5 T07 m UDS0.SPOS.320.W32 320 32 55 80 180 252 L80M3,5X8 T10
UDBO.SPOG,160.W28 180 25 32 56 a0 156 LBOM2.2x 5.5 T07 UDBO.SPON.320.WeD 320 40 &5 70 180 262 L8OM3.5X8 T10
UDBO.SPOG.1BA.WRB 165 26 32 66 85 161 LBOM2.2x 6.5 T07 Q UDBO.SPOS.330.W3% 330 32 55 60 185 250 LBOM3.6XA T10
UDBO.SPOG.170.WRE 17.0 25 32 &8 85 181 LBOM2.2 % 5.5 TO7 UDEO.SPOD.330.W4D 330 40 55 70 185 268 LEOM3 X8 T10
UDSO.SPOS.17B.W2B 175 28 32 @&m @0 167 LEOM2.2x 8.5 T07 t UDSO.SP11.340.W32 340 32 55 60 170 283 LaOM4X10 T16
UDS0.8POS.100.W2B 180 B8 32 66 90 187 LBOM2.2x 5.0 Tor m UD80.GP11.340. W40 340 40 B6 TO 170 273 Le0M4X10 Ti6
UPS0.8POS.100.W2S 185 26 32 B8 88 172 SPOO080204 LEOM2.2x5.5 Tor UDS0.8P11.330.W32 350 82 55 &0 178 268 Le0M4X10 Tia
UDBO.SP0S.180.W2B 190 25 32 56 85 172 LBOM2.2%5.5 T07 UDBO.SP11,380.W40 350 40 55 70 175 278 L8OM4X10 T16
UDBO.SPDA.1BB.WRS 195 25 32 56 100 179 LBOM2.2x 6.5 TO7 UDBD.8P11.380.W32 360 32 55 80 180 275 LAOM4X10 T15
UDEC.8POS.200.WRS 200 26 32 58 100 179 LBOM2.2 % 5.5 T07 UDEO.SP11.380.W40 380 40 &5 70 180 265 LAOM4X10 T15
UDSO.SPOS.200.W28 208 25 32 66 105 184 LBOM2.2 % 5.5 T07 UDSO.9P11.37T0.W3% 37.0 32 55 60 185 261 LBOMAX1D T15
UDEO.GPOS.210.W28 210 28 32 B8 106 184 LEOM2.2x 5.5 Tor UDBO.SP11.87T0.W40 370 40 55 70 185 281 SP110408 LaoM4x10 Ti6
Upso.8P08.215,W28 215 25 32 &8 110 188 LaoM2.2x 6.5 Tor uUDao.8P11.390. W32 380 232 B8 60 190 267 LeoM4X10 16
UDBO.SPOT.220.W28 220 25 92 66 110 180 LBOM2.5% 8.5 T08 UDS0.SP11.380.W40 380 40 56 70 100 207 LBOM4X10 T18
UDBO.SPOT.2Z8.W3Z 225 82 45 60 118 200 LEOM2.5x 8.5 T08 UDBO.SP11.390.W32 39.0 82 55 80 185 2e2 L8OM4X10 Ti6
UDBC.SPO7.E30.W3Z2 230 32 45 B0 115 200 LBOMZ.5% 8.5 T08 UDBO.SP11.380.W40 39.0 40 55 70 185 202 LBOM4AX10 T15
UDBO.SPOT.230.W32 235 32 46 B0 120 208 LBOM2.5x 8.5 ToR UDEQ.SP11.400.W32 400 32 80 80 200 208 LBOM4X10 T15
UDBEO.SPOT.240.W32 240 32 45 80 120 208 LBoM2.5x 8.5 To8 UDBO.SP11.400.W40 400 40 80 70 200 308 LBOM4X10 T8
UD30.8POT.243. W32 245 32 46 80 126 212 8POIC07T308 LoOM2.6 6.6 Tos UDeo.6P11.410.W40 4.0 40 60 70 205 314 LaoM4X10 TiB
UDBO.BPOT.200.WA2 250 32 48 B0 125 212 LEOM2.5% 6.5 Toa UDS0.8P14.420.W40 420 40 60 70 210 M9 LeaMBaX13 T20
UDBO.SPOT.ZEE.W3I2 255 92 45 80 130 217 LBOM2.5% 8.5 T08 UDSO,SP14.430 W40 430 40 80 70 215 326 L6OMBX13 Tzo
UDBO.APO7.280.W3Z2 280 82 45 60 130 217 LBOM2.5x 8.5 T08 UDED.BP14.440.W4D 440 40 80 70 220 330 L8OM5X13 T20
UDS0.9PO7.265.W32 205 32 45 680 125 222 LBOMR.5x 8.5 T08 UDBO.SP14.480.W40 450 40 80 70 228 337 LBOM5X13 T20
UDBO.SPOT.270.W32 270 32 45 60 185 222 LBOM2.Ex B.5 T08 UDRO.SP14.480.W40 480 40 80 70 230 343 8PCIL1140512 LBOMSX13 T20
UDS0.BPOT.275. W32 278 32 46 B0 140 228 LaoM2.B6x 8.5 ToB UDRO.SP14.470. W40 470 40 60 70 235 248 LBOMEX13 T20
UDAG.2PO%. 200, W32 280 32 48 8D 140 228 8PCII080408 LEOMI.E% B Ti0 UDBO.BP14.490.W40 480 40 60 70 240 354 LADMBX12 T20
UDSO.SPOS.ZEB.W3IZX 285 32 48 B0 145 258 LEOMS.5x 8 T10 UDSO.SP14.490.W40 400 40 80 70 245 359 L6OMBEX13 120

UDB0.SP14.800.W4D 500 40 60 70 250 365 LBOMBEX13 T20

TRRGMPRRREA B HOREG R www nsantoom 4 TRRGMTMEWEL R SRR R, hrssnt com




£hEI7JE | DRILLING TOOLS

m=
— —
wE—

§BHI ¢4%I7JE | DRILLING TOOLS

8-machining Tools AN TIIR

#AMTIIE  Hole-machining Tools

CIE:2od: £k N
UD30

HEAERSH(mm) pimension

o [ e [ e [ [ e | L
26 83 176

L2
L1 | az 55 B0
o 1 © UD30.WC05.270.W32 27 32 55 86 60 180
a 89 WCO05
UD30.WC0S.280.W32 o8 a2 55 89 60 184
UD30.WC05.200.W32 29 a2 55 92 80 188
UD30.WCDS5.300.W32 30 32 55 o5 ) 192
UD30.WC06.310.W40 31 40 80 98 70 203
UD30.WC06.320. W40 a2 40 60 101 70 206
Z15 Insert T15 W4T Insert Screw i F Wrench UD30.WCD6.330.Wa0 33 40 60 104 70 209
Q = UD30.WC06.340.W40 34 40 60 107 70 212
P p—— ut oo UD30.WC06.350.W40 35 40 80 110 70 215
D30.WC06.360.W40 40 70 218
WCMX040208 LB0 M2.5XB.5 To8 m v il = i
h UD30.WCDS8.370.Wa0 a7 40 60 116 70 291
WCMX050308 L60 M3X8 T10 Q
UD30.WC06.380.W40 a8 40 80 119 70 225
WCMX06T308 L60 M3.5XB Ti5 &
UD30.WC08.300.W40 38 40 80 122 70 208
WCMX080412 L60 M4X10 Ti5 “
‘ UD30.WC06.400,W40 40 40 0 125 70 231
UD30.WC08.410.W40 4 40 60 128 70 234
* JIARHEEE Type of Millin: UBO3.WC08.420.W40 42 40 60 131 70 239
UDO3.WCD8.430. W40 a0 70 242
Catagory Typa #AERF(mm) pimension A o e
=
VBSOS 00 Vs i e s - - 199 UDO3.WCOB.450.W40 45 40 80 140 70 248
UD30.WC03.170.W25 17 25 3 55 56 433 UDO3.WC08.460.W40 48 40 80 143 70 251
WCo3
R i g B . po. o UDO3.WCD8.470.W40 47 40 60 148 70 253
UD30.WC03.190. W28 " ” - ¢ ” a5 UDO3.WC08.480.W4D 48 40 70 149 70 255
UD30.WC03.200.W25 20 25 a 64 56 143 wcos  UPOEWCDE.400.Wi0 49 40 70 152 70 257
UD30.WC04.210.W25 21 25 40 67 56 153 UDO3.WC06.500.Wa0 50 40 70 155 70 259
R —— 55 o a0 - ” 166 UDO3.WC08.510.W40 51 40 70 158 70 261
WCo4
UD30.WC04.230.W2S 55 55 ” ot - - UDO3.WC08.520. W40 52 40 70 161 70 263
UD30.WC04.240.W25 24 25 40 76 56 162 WS I .0, g A 4 w L bl i
UD30.WC04.250.W25 25 25 40 79 56 185 UDDA.WO0S.B10:WAO i 4 74 167 70 267
UDO3.WC08.350.W40 55 40 70 170 70 2690
UDO3.WCD8.560.W40 56 40 70 173 70 271
UDO3.WC08.570.W40 57 40 70 178 70 273
HEA: BENFBUSEEMEEA. Note:The Insert Is Zecct brand.
UDO3.WC08.580.W40 58 40 70 179 70 275

249 TRAGEFNERSH R FWTEERSwww.hnsant.com TREAMSEFINREHET 71025 M thwww.hnsant.com

| SANT



£LEI7JE | DRILLING TOOLS
T nE

¥ o 7 R

Hole-machining Tools

(A RIE LT TSI

AR L RBESEROYK , LIEMI R EESaREEBRT.
{EFCNCZEFRATTI B il S SHUR E i sp ) R B 47,
CNCEERRERBMAY 7L , 71 R4S S f AT,
REELERT HERIRR , A RE T AETRE.

WARNING

Use the High Speed Dril the best to drain water from the
high pressure center to extending inserts life and good
for removing the metal chips

Using CNC Lathe the cutting center Foint with spindle
center of Machine best to be parallel.

If you need to expand hole when using CNC Lathe,
the outer insert must parallel with the remove angle of
cutter tower.

2 %

The inserts have to be checked regularly for wear,and
stop immediately once noise occurred.

LZHOFE L0450

ZILH Y B SIES 5

Recommended cutting parameters for u drills

AnE Ho,le-,tg'{_

%ﬁ%ﬂﬁ%gmtllmg depth Hi%4Z Hole tolerance

2XD +0.2/-0.1
3XD +0.25/-0.1
4XD +0.3/-0.1
5XD +0.4/-0.1

HE-HIDE S

Recommended drilling and cutting condition

ME T HHEAE fn(mm/rev)
Materials (m/min) ‘2125015 @1550215 ©22-027.5 ©28-033 | ©34-041 | @42-D50 ©51-056 B57-066 | ©67-B73 | @74-080
ﬁ%@agﬁfgg) 180-250 | 0.05-0.08 | 0.06-0.10 | 0.06-0.12 | 0,07-0.13 | 0.08-0.15 | 0.08-0.16  0.06-0.12 | 0.08-0.12 | 0.08-0.12 A0.08-0.12
B ( 0.3%C-) I | |
R ( 0.3%C 180220 | 0.08-0.12 | 0.08:0.15 | 0.10-0.18 | 0.12-0.22 | 0.12-0.24 | 0.13-0.25 | 0.10-0.15 | 0.12-0.18 | 0.12-0.18 | 0.12-0.18
LJ\%E}%?EB[ 150-220 | 0.06-0.12 | 0.08-0.14 | 0.10-0.18 | 0.12-0.22 | 0.12-0.23 | 0.13-0.24 | 0.08-0.15  0.10-0.18  0.10-0.18  0.10-0.18
| | |
Himel ‘ 130-180 | 0.06-0.10 | 0.08-0.15 | 0.10-0.20 | 0.12-0.23 | 0.12-0.24 | 0.13-0.25 ‘ 0.08-0.15  0.10-0.15 ‘ 0.10-0.15 | 0,10-0.15
SR | 170240 | 0.05-0.10 | 0.06-0.12 | 0.08-0.15 | 0.09-0.16 | 0.10-0.17 0.11-0.19 0,06-0.12  0.08-0.15 0.18-0.15 0.08-0.15
cal ‘ 180-250 | 0.06-0.12 | 0.08-0.16 | 0.12-0.20 | 0.15-0.25 | 0.16-0.28 | 0.18-0.30 ‘ 0.12:0.20 0.15-0.22‘0.15-0_22 0.15-0.22
Noo RBEEE | 130200 | 0.08-0.10 | 0.08-0.15 | 0.10-0.18 | 0.12-0.20 | 0.15-0.23 | 0.16-0.25 | 0.10-0.15 | 0.10-0.20 | 0.10-0.20 0.10-0.20
e 330-380 | 0.06-0.14 | 0.08-0.15 | 0.10-0.20 | 0.12-0.22 | 0.14-0.23 | 0.15-0.26 | 0.15:022 0.15-025 | 0.15-0.25  0.15-0.25
Aluminum alloy
manR 30-60 | 0.05-0.10 | 0.06-0.14 | 0.08-0.18 | 0.10-0.22 | 0.14-0.23 | 0.15-0.24 | 0.10-0.15 | 0.12-0.16 | 0.12-0.16  0.12-0.16

THRAREGRREGESRT X EREEEMIwww.hnsant.com

£Ld|7182 | DRILLING TOOLS
ning Tools FANTT]

s = 71 R

* 71 i%4E Matching Insert

@ @ E#F R~ (mm) Dimension
(4]
g 1 H e e
SPMG050204 e @ O 5 5 2.38 22 0.4
SPMG060204 0 & O 8 8 2.38 26 0.4
SPMGO7T308 e @ O 7.94 7.94 397 28 08
SPMG090408 e @ O 0.8 0.8 43 42 0.8
SPMG110408 e @ O 115 11.5 4.76 44 08
SPMG140512 e e 14.3 14.3 5.2 5.75 12
p B T
.8
M rem EC = u 15 it
o1.C Pﬁ [
k[ n = i e
. ST e L
s o ]
LR ]
WHad. 4ad [ 80’ L
PR A
® E5FEF unaliocatedstock O TR EF Available stock W 575 Main application  [] #8E M Al Extended application
W 7JE%3E Matching Insert
w|lw|lo|lw|lvlo|le|e|e|e AR F(mm) Dimension
menee (2| 5|8 2[E|E[5]3|5]2|2 i
=2 Zlalals|kle|BlE]l=2]2
Z 28I BIB|8|&E 8|82 L 31.C 3
SPGT050204-SPM ® @ 5 5 2.38 22 04
SPGTO060204-SPM e @ 6 6 2.38 26 04
SPGTO7T308-SPM e e 7.94 7.04 397 2.8 08
SPGT0S0408-SPM ® @ 8.8 9.8 43 4.2 0.8
SPGT110408-SPM ® @ 11.5 115 4.76 4.4 0.8
SPGT110408-SPM OO 14.3 14.3 52 5.75 1.2
rE .
M TEHH | N |
'k BT mm
BEERE
fi#HEsE, & | |
AR

® E%ER Unallocatedstock O A ETF Available stock B # %5 & A Main application  [] #AR B Extended application

TREAGEFINEEEHET T W02 AR dhwww.hnsant.com

S| SANT



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmmmm\u



=QENWM\U



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁm@a\u



tu.ﬁm@a\u



tu.ﬁm@a\u



tu.ﬁmmm\u



tu.ﬁmmm\u



tu.ﬁmmm\u



tu.ﬁmmm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmmm\u



tu.ﬁmﬂm\u



tu.ﬁmmm\u



tu.ﬁmmm\u



tu.ﬁmmm\u



=QENWM\U



=QENWM\U



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



tu.ﬁmﬂm\u



TR&E% TOOL "I

m
BAIAM Technical Informatian

S BFEES
it = =2 Bl&Sels. Friadtan

W{E53E. BERIHE
L - = %

] 11.80 815 275 1B8.5 13.55 B.30 M2 415 0.02

39 1640 116 326 225 18.96 12.96 M16 7.36 0.07

] 25,55 17.95 5.25 ar.n 2010 19.60 M24 155 020

L La
43 2 18 6 165 11 T Miz 12,6 45" 0.03
43 3 18 5 185 " T M12 125 -1 0.0%
80 s 2B 8 23 15 10 M8 17 43" 0.08
B0 36 28 8 2 16 10 Mi6 17 84 0.06
85 45 5 10 =B 23 17 M4 25 45" 0.20
as 4% ] 10 38 23 17 mM24 25 B 0.20
85
J6.52 [
. 28.2
; -
gg - : | ':l ko :
S ES T s
> ] L
\V 48

SUN] BMESTRDANRED

THUZHOL SANT CUTTING TOOLE D0, LT

E * 2018200 ~REMFARTELSRRE, EFAIRENN, BERN!

315 TRAERENA MR BRI N Ewww. nannt.com



	综合样本-电子版_页面_001
	综合样本-电子版_页面_002
	综合样本-电子版_页面_003
	综合样本-电子版_页面_004
	综合样本-电子版_页面_005
	综合样本-电子版_页面_006
	综合样本-电子版_页面_007
	综合样本-电子版_页面_008
	综合样本-电子版_页面_009
	综合样本-电子版_页面_010
	综合样本-电子版_页面_011
	综合样本-电子版_页面_012
	综合样本-电子版_页面_013
	综合样本-电子版_页面_014
	综合样本-电子版_页面_015
	综合样本-电子版_页面_016
	综合样本-电子版_页面_017
	综合样本-电子版_页面_018
	综合样本-电子版_页面_019
	综合样本-电子版_页面_020
	综合样本-电子版_页面_021
	综合样本-电子版_页面_022
	综合样本-电子版_页面_023
	综合样本-电子版_页面_024
	综合样本-电子版_页面_025
	综合样本-电子版_页面_026
	综合样本-电子版_页面_027
	综合样本-电子版_页面_028
	综合样本-电子版_页面_029
	综合样本-电子版_页面_030
	综合样本-电子版_页面_031
	综合样本-电子版_页面_032
	综合样本-电子版_页面_033
	综合样本-电子版_页面_034
	综合样本-电子版_页面_035
	综合样本-电子版_页面_036
	综合样本-电子版_页面_037
	综合样本-电子版_页面_038
	综合样本-电子版_页面_039
	综合样本-电子版_页面_040
	综合样本-电子版_页面_041
	综合样本-电子版_页面_042
	综合样本-电子版_页面_043
	综合样本-电子版_页面_044
	综合样本-电子版_页面_045
	综合样本-电子版_页面_046
	综合样本-电子版_页面_047
	综合样本-电子版_页面_048
	综合样本-电子版_页面_049
	综合样本-电子版_页面_050
	综合样本-电子版_页面_051
	综合样本-电子版_页面_052
	综合样本-电子版_页面_053
	综合样本-电子版_页面_054
	综合样本-电子版_页面_055
	综合样本-电子版_页面_056
	综合样本-电子版_页面_057
	综合样本-电子版_页面_058
	综合样本-电子版_页面_059
	综合样本-电子版_页面_060
	综合样本-电子版_页面_061
	综合样本-电子版_页面_062
	综合样本-电子版_页面_063
	综合样本-电子版_页面_064
	综合样本-电子版_页面_065
	综合样本-电子版_页面_066
	综合样本-电子版_页面_067
	综合样本-电子版_页面_068
	综合样本-电子版_页面_069
	综合样本-电子版_页面_070
	综合样本-电子版_页面_071
	综合样本-电子版_页面_072
	综合样本-电子版_页面_073
	综合样本-电子版_页面_074
	综合样本-电子版_页面_075
	综合样本-电子版_页面_076
	综合样本-电子版_页面_077
	综合样本-电子版_页面_078
	综合样本-电子版_页面_079
	综合样本-电子版_页面_080
	综合样本-电子版_页面_081
	综合样本-电子版_页面_082
	综合样本-电子版_页面_083
	综合样本-电子版_页面_084
	综合样本-电子版_页面_085
	综合样本-电子版_页面_086
	综合样本-电子版_页面_087
	综合样本-电子版_页面_088
	综合样本-电子版_页面_089
	综合样本-电子版_页面_090
	综合样本-电子版_页面_091
	综合样本-电子版_页面_092
	综合样本-电子版_页面_093
	综合样本-电子版_页面_094
	综合样本-电子版_页面_095
	综合样本-电子版_页面_096
	综合样本-电子版_页面_097
	综合样本-电子版_页面_098
	综合样本-电子版_页面_099
	综合样本-电子版_页面_100
	综合样本-电子版_页面_101
	综合样本-电子版_页面_102
	综合样本-电子版_页面_103
	综合样本-电子版_页面_104
	综合样本-电子版_页面_105
	综合样本-电子版_页面_106
	综合样本-电子版_页面_107
	综合样本-电子版_页面_108
	综合样本-电子版_页面_109
	综合样本-电子版_页面_110
	综合样本-电子版_页面_111
	综合样本-电子版_页面_112
	综合样本-电子版_页面_113
	综合样本-电子版_页面_114
	综合样本-电子版_页面_115
	综合样本-电子版_页面_116
	综合样本-电子版_页面_117
	综合样本-电子版_页面_118
	综合样本-电子版_页面_119
	综合样本-电子版_页面_120
	综合样本-电子版_页面_121
	综合样本-电子版_页面_122
	综合样本-电子版_页面_123
	综合样本-电子版_页面_124
	综合样本-电子版_页面_125
	综合样本-电子版_页面_126
	综合样本-电子版_页面_127
	综合样本-电子版_页面_128
	综合样本-电子版_页面_129
	综合样本-电子版_页面_130
	综合样本-电子版_页面_131
	综合样本-电子版_页面_132
	综合样本-电子版_页面_133
	综合样本-电子版_页面_134
	综合样本-电子版_页面_135
	综合样本-电子版_页面_136
	综合样本-电子版_页面_137
	综合样本-电子版_页面_138
	综合样本-电子版_页面_139
	综合样本-电子版_页面_140
	综合样本-电子版_页面_141
	综合样本-电子版_页面_142
	综合样本-电子版_页面_143
	综合样本-电子版_页面_144
	综合样本-电子版_页面_145
	综合样本-电子版_页面_146
	综合样本-电子版_页面_147
	综合样本-电子版_页面_148
	综合样本-电子版_页面_149
	综合样本-电子版_页面_150
	综合样本-电子版_页面_151
	综合样本-电子版_页面_152
	综合样本-电子版_页面_153
	综合样本-电子版_页面_154
	综合样本-电子版_页面_155
	综合样本-电子版_页面_156
	综合样本-电子版_页面_157
	综合样本-电子版_页面_158
	综合样本-电子版_页面_159
	综合样本-电子版_页面_160
	综合样本-电子版_页面_161
	综合样本-电子版_页面_162
	综合样本-电子版_页面_163

